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Ans: The teacher asked Kamal why he was talking in the class and
warned that he should behave hinself.

89. What are the comparative and superiative degree of: Fore.

Ans: Comparative - former,
Superlative - fore-most.
88. Proverbs™™ IR=T FF+.

a. To the pure all things are pure.

b. The pen 1s mightier than the Sword.
Ans: a. SR ST (ST TR ST |

b. S99 5w I 9T |

8¢. Write down one synonym and antonyvm of: Frivolous.
Ans: Synonym — Tnivial
Antonym - Significant
8u. Correct the sentence of: This pen is hettﬂ ‘than llﬂ.
Ans: This pen 1s better than hers. -
84. What is the meanings of: Glance at Glance nver
Ans: Glance at— %iB9Te &4
Glance over - &e s &7 | -
8t-. Substitute into single word: One living at the same with another.
Ans: Contemporary. A,
85. Translate into English: ._
a. WWTWY ST s S 3 =19 |
b. o ¥ i &9 R |
Ans: a. Our head teacher is reticent.
b. He 1s attacked with shivering fever.
¢o. Write down pronoun and name of pronoun in the sentence of:
Two brothers help each other.
Ans: Each other—distnbutive pronoun.
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Y [SFBAA WOl | OFH: FHBILA Bl |
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ob. Write down adjective of the words: Powder, Endure.

Ans: Powder = Powdered.
Endure = endurable.

©9. Write down the structure of present perfect continuous tense.
Ans: Perfect continuous tense <4 3t f=@%: Subject + have/has been
+ v-ing+ object/ Extension

o, Write down past form of: Weave, Spit
Ans: wove, Spat.

9>, What is the right form of verb: No sooner had I (to go) than he
(to leave).
Ans:gone, left

8o. Fill in the blank with appropriate words: I wanted to talk-you -

his mother.
Ans: to, about.

8. Change the voice into Active: Let the game is finished.

Ans: Let us finish the game.
8. Change the narration of : The teacher said to Kamal, "Why are

you talking in the class? You should behave vourself™.
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22. What is the meanings of: Guard form, Guard against.

Ans: Guard against = ®fca@s @ fog afczs =41 |

Guard from - 99 9 21eq 7 =7 |

23. Fill in the blank with appropriate words : He sat - Corner of the
table - the door.
Ans: He sat at the corner of the table by the door.

24. Change the voice into Active: My suggestion was not accepted.
Ans: Someone didn't accept my suggestion.

25. Change the narration of: The old man said, "Can you gi\'e me
some food? I have been starving for two days."
Ans:
Indirect speech: The old man asked if the man/woman smken to

could give him some food. He further added that he had been starving
for two days.
QY. (B TS TOE Pl eTons o 7 mmﬁﬂtmmmw

T | @ TS Rl R 97
-aﬁ fersie ST X &

WWW)DKW

g ﬂt T.X X doX = dooo [... ) DIF = }ﬂnﬂ'ﬂﬂ
q[, YoX” = 5000

41, x> =900
mJF:JQE'
. X =90 Mﬂ?&ﬂﬂﬁaa—-{l
4. ﬁﬁﬂl&'ﬁw
2 4 .7 13 23
I — € —

¥ —
3 5. 15 30

mm'rﬁﬁ 3.5.158 309w +s. =30
.. Ix10 20

.-p!_—.-.'—q

3%.3x10 30
4 4x6 24
5 Sx6 30
13 13x2 26
=— [y
15 15x2 30
23 23x1 23

30 30x1 30
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3.Give an example of "period of time' and "point of time"'.
Ans: Period of time: Dr. Rana lived for eighty years and did so many
noble things in the period of time.
Point of Time: Sohel met her suddenly and proposed at that point of
time.
3. Write down ten words used in making interrogative sentence.
Ans: What, who, whom, which, whose, when, where, do, have, be.
>9.What are the noun of: Conclude, Progress.

Ans: Conclude—Conclusion
Progress-Progress/Progression.

>8. Write down past form of: Leap, Seek. Ans: Leaped, soug]'it.'
3¢.What is the right meaning of the phrase: A green horn.
Ans: A green hom— an mnexperienced or naive person.. (ﬁﬂﬁﬁ jf%).
16.What is the right form of verb: A red and blue pen (to be) bought.
Ans: A red and blue pen was/is bought. -
17.Proverb =& Ir=T Frg:
a. Lay by gones be by gones
b. A thing of beauty is joy fur-ever
Ans:
a. Lay by gones be by gones - Lﬂla‘ﬂﬁ‘ﬁﬁ ATHE |
Let by gones be by gones = _.
b. A thing of beauty 1s a joy forever =
ad fal~p1 haima2 e |
18.What are the comparative and superlative degre of: In.
Ans: Incomparative form - Inner.
Superlative form - innermost.
19. Translate info English:
a. oie <1 SiFE Fitate |
ADs:
a. i 91 St fsrare =His leg has got broken.
b. Tt=1 &G sei-m = Cooking pot is set on the fumace.
20. Write down one synonym and antonym of: Fade.
Ans: Synonym- Demetenalize, dissolve Antonym - Appear,
materialize.

21. Correct the sentence of: No sooner had he come when the rain
began.
Ans: No sooner had he came than the rain began.
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R Humorous = ZP7-2TG |

8. Beautiful =15 Parts of speech ?

%) Noun *) Pronoun

s7) Adjective 9) Adverb TEa: of

@ t (g2 (M, &1, S9g® Adjective 3%+ | Beautiful (779) Adjective.

89. A drawning man catches — a straw.

%) 10 ¥) at

57) for ¥) on TEE: 9

@ man catches at a straw. .
88. "Plebiscite’is related to -

%) Medicin %) Technolog Y

) Law ¥) Politics » N, ey

RIMT] Plebiscite = =TT | <67 Politics (A1&fe) 5@ | =

8¢. What is the main agent that pollutes environment. ?
%) Man 4) Tree S
) Bird ¥) Beast v Tea: 3
RO IETC <20 TS G U AR Wb

8u. What s the synonym of 'incredible'?
%) unbelievable #) unthinkable
*T) unlikely ¥) unthinking TEE: 3
MY Incredible = S5l Unbelievable = 3f4P5, Unthinkable = foera,
Unlike = ste1 79/fSg, Unthinking = 5= /farasa |

84. A friend need is a friend indeed.
) to | %) at
sT) of ' : ¥)1n TEa: ¥
gt A friend inneed is a friend indeed (&7 %) = fefTa 752 &5 75

8b. TG NN FLA Hoe A I FTA(0?
%) Somerset Maugham

<+:¥) Somerset Mom

%) Somerset Mauhm
¥) Somerset Maghm Tea:
ROTOH SR ¥ ATioa ee Last a9 o Somerset Maugham

8». Paediatric’ relates to the treatment of-

%) Adults %) Children

s7) Old people ¥) Women T ¥

oM Paediatric (Freffei) 2 Children firs fbfaon @ e 7= |
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Choose the correct verb form.

%) The thickness of the books very

*) The thickness of the books vary

57) The thickness of the book varying

¥) The thickness of the book varies TEa: ¥
oY @+ singular subject 'thickness' @@ 7% fw w=pma singular verb
'varies' 2[4 | Jio® & =4 (¥) |

Choose the correct passive form of "who will do the work'?

%) Who will be done the work?

%) Who will done the work?

') By whom will the work be done? A e

¥) Whom will the work be done? R

@ Interrogative sentence-2 who = passive voice Wby whum g =g
A 9% structure S@E By whom + auxiliary+subject+ verb in past
participle =9 | PPy

Choose the noun of 'repeat'? \

¥) repeatedly %) repennnn

ﬂ} repetitiﬂus ¥) repetitive / TEw: o
Repeat = 919" <11 | Repeat cﬂ noun = repetition (4791978) |

'Let us call it a day’ means

<) Let us stop. |
%) Let us call duning the day
) It1s dayime.
¥) The day is yet to end TEa: ¥
et > T=a (%) -
What is the ‘last word of the proverb 'Handsome is that

handsome .......
%) works #) thinks

S1) says ¥) does TE%: ¥

@ 'Handsome is that handsome does".

. The opposite word of 'sluggish' is —

%) anumated %) dull

s7) heavy ¥) show Tea:
@ Shuggish = (G, ¥8257€; Animated = &[98, &°@%; Dull = fmes; Heavy =
s Show = TR |

Which is the correct spelling ?

%) Humourous %) Humorius

s7) Humorous %) Humurious TEH: o
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Choose the correct sentence.
¥) Everybody have gone there |
¥) Everybody are gone there N

o) Everybody has gone there *

¥) Everybody has went there ~ TaEa: o
@ Everybody/ somebody/ nobody 4= verb % singular =¥ <% have/
has 9=/ verb 9974 past participle form 97|

Choose the correct sentence.

%) He has come home yesterday

%) He comes home yesterday

) He will come home yesterday

¥) He came home yesterday T ¥
@ yesterday S4e S€1¢ ¥« «r@1te Sentence o past Indefinite 'came’ 229 |

—
-

Choose the appropriate meaning of the word "bountiful'?
%) Generous #) Limited
) Attractive ¥) Dutiful TEN: 3

@ Bountiful = #57, 9t%8; Generous = *#¥, 57, Tw4; Limited = Ffars;
Attractive = Ss&a1%; Dutiful = SSay==@m |

Choose the correct preposition:

My brother has no appetite food.

%) at <) for

o) to ¥) n TEE: ¥
Appetite for something ST Z=: (1 g3 T T4 A1 THRFT |
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%, Y58) S IBY S \
ST, 353 9. %% ' TEe:
[Note : F&I 5@ TFW dodd BB 3¢ @ (d90y WHAT 3 (&IY) SEred
A HAAHE G |rﬁﬁwwﬁﬁwmfﬁ%wuhmwﬁﬁ
CEAZE qrefe *FBe @ A a5 I | W (ST 422 JT0T 398 I+ B
FATCETST TS S 200 A% Ziacs Gl |
3. T3 fgres et WS 1:1: V2 @R JT8W @ 90° T THST (HTH T I67
%. 60° L B¢
. 30° g, 45° T&: ©
RT] <o ofEeE o W fegefs T e fage | ey fageia @
(I 208 90°, I | o Hib (S A8 29 90° Ok o (TR T FFTR I 4R
Wi (e 2fefoa 9= 24 45° | Joak fosatd THew (@eE IW 45° )
»9. mﬂwmwﬁcﬂmmm
s ‘B ¥+
o, ‘9’ 9@ Tea: ¥
RN Wi« Wrew SoE & 3 oo e e foofie & wmbmm rem
N A G S € T0TE 2 THWH | T2 G SFd Z0q [So1aeT 16 |
58. AHIGH SETNGTRE LT IRFT THATH (FHI0?

B, yrstemtel <+, e[

o g q, S W e =
RO TG A%w0s SO e oeF AET SHPT § TR TS 2w EP
TR —A A (Sbbe) | O A6T A BEHe SHFTP— [THTF (3vq9), A
W (SruR), AOET (Sobq), FAFFET (Svrl) , FHANF S8 (Svav) |
»¢. Which one of the following phrases means ‘to tolerate’?

%.put up with %, put down to
s. put of €. put up e &
Option <=7 Y ‘to tolerate’ (37 #41) I¢ &= ¥ ‘put up with’ phrase
war | @ put of up tuith = 5% =21, & effeamw @ G |




MATRIX BCS Series ¢ [ gh k0
—> None = 0% - 5%

’. None = 10%
eAR To¥ AUy e Yo T (T WA |
vo. @@l TWoE 92 I e 8 G ¢ & o @1, @7 cwares 3% 3 o
#.24 % 48
1. 60 €. 14 A
H s &,
|
WO (PO = — X Wﬂ LT
.
| oy
S OB = E x8x6 =24 == ) r* P
8. (IIHID AP =*? r &
¢. 01 %, 54 _
5T. BT q, S &4 e

RO ~rgfire STaTa e S, ST, S, ﬁﬁl ﬁ”‘?vﬁ S, ATCHM |
W”ﬁ‘mlﬁf?ﬁ‘ﬂ'ﬂﬁ’ﬁﬁf"ﬂl /
b¢. Y ' SIS SR P M€ B It @ o7 T

%, farersy e fam «. vt e famr

1, fareray & frerct =gm q. f&w s sdqm T ¥
Y 6 BT STAE F e F4TM o feapita | (e —
& faperar [1"@1
o ERE
| = ERE S
OIRIST Ay 919 SO *“frags] 9 O 4l 089 *Mmaei |
4. Which one of these wnrd! is not correctly spelt?

%. pronounciation 4. spontaneous
s7. humorous sT.mysterious e+
@ OptionsGIF W04 (@ I-T0 316% =1 41 S+ G1i6 &+ pronounciation I7 3fe=
4+ pronunciation (E5E) |
v, (@ SR R IR OE G AT 0T — .,
g L o, JF
T. S0 . ¥frorn TE%: ©

ROTH 1 Rt ot (R S O T A W S F RS FO |
by, 9.8N B (I I 5T GO IS}

*. 196 416N
T.7.8N 9. 1.63N g% ¥
N 577 Sfswer g, g'= %

9.8

" @ 9FA €T = ?N[mmﬁﬂtﬁﬁﬁﬁ]




MATRIX BCS Series 98 e
qu, AT STETT ADT FIBTT LB Y TIHO?

b,

b,

%, TS ¥, AT
FrdaT 9. 57% B |
AT ARSI &I Joor Fda 581+ ddoq FTE F#Itea AEHaa1d (AT ST

TH | YBdY T IH TS “faaw (403 SA#wd A 4sle1 92 S0 G ¥ | TGYrE
AT TS, AT € NFWH G197 5T TGN FILLT GPLAA, A 6

TG 5EWP |

@0 SSUE PSRy

%, fnfe %, faafe

o1, fae= . fqom Ta: ¥

R Topricams e wyT | oo e ™ 7 + Vo + fo = AR R
ﬂ%ﬁﬁﬁﬁ(ﬁ+ﬁ}aﬁ¢ﬁ{ﬁ+ﬁ)uﬁaﬁ‘mﬁr |

A person who always doubts is called a/an : 8
%. anarchist %. stoic e
7. skeptic 9. pessimist ST TEm e

Wl Skeptic (TR T W T & T %g‘bnﬁﬁmm‘mm
4| Sumt® anarchist = F@EEMA; stoic = ﬁﬁa ajfs 9@ pessimist =

. Pass away means —., x 4141
T‘F ﬁu 'ﬂ'_ ﬁe "’.*""J..
s1. disappear 9 w | S

@‘Pass away = die mﬂmﬁﬂﬁw fall = <ffe® =, disappear =
w7 T6T 9E eras = WE L, ﬁﬁs:,iﬁn

. COr-7 urifes =3 o7
<. 99 : ﬂ. 88
ST 53 | '*JT_:.;,-_: - 9. 202 m o
T Aragefde ST = 0
e 59 = b

I CO»9 FHEE ST O *FNY 9R SFEE A0 2 709 | Joar CO, 97 aidfas
SH12+(16x2)=12+32=44
The issue will be discussed —.,

“=, with details 4. by details

1. in details 9. in detail B ¥
=T ‘In detail’ (plurase) = f@fae, s=fatst | %7 phrasest=1 B+ 7| In
detail 3T ewe AT = fTEE Fufee s=he 2= |

bR, (B AT RN bo% TS R 0% I o 399 | I Tow W vo% oM

A A0S OF Toy umy oA soe (o 97
3 v% ¥ 3%
. 3¢ % 9.59%% oEa: «

-II T ST &t
N(AUB) =N(A) + N(B)-N(AnB) + None
= 300% =v0% + 0% - Yo% + None
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o0, (AL TFY A BATE?

%, AT o, T

ST, STETE 9. 9757 &% |
ROTGH (3 STRIET “fvita el T o1 o ~feiTd o e+l S8 o, T &

T G AP | (AN ACHE SF = IXSF, A 9 = 995, A0 AGN = TG |
9. G MY WEF T 9T THURCH LT 39 @™ | RS 397

%+, 20 ¥. 208
S, @R 9. u8 Tex: =
e 2, o x
X X e
fwe, —=—+21 P
& ® . O™
X X N
= =39
2 © <\
X-2X A I"'—'F;-;.;-;-:
= =39 ( ™
= X = daxd 3
. X= 3R S
Q. Asinn Development Bank (ADB) &3 mmm _ES?
=, ARES o, FEATPE
of, (GTieere - §, WieFl & ©

RIMGH ADB =fS5® 2 33 960 3ub <R 9ft ST wers #ia w7 = » oma

MLl | GF HE WEA AR Wy S915S |

qo. 3fqer fae =ome & R
e ¥, PG AGF TN
ST, Ta0d ] | q. QNG *i4d Taa: o1
RITOH TETTa 7 etifre #ae sfew e siferee 2w sfrer o #fer fare
SCEDEE G ey | ©F Sovwe Sital g9iv fael ‘opife’ | v fefemeicae
T ZE Ba S fofd §% ferew apifes «ifas =@ x|

98. The verb form of ‘television' is : .,

... telesight 4. televisioned
9], televise |. telesite Ba%: o
@ Television (F@74)-<2 verb form %= televise , a & (Gffo=t-a WrqTa
FEEbIa <+l |
q¢. What type of sentence "Work or you will fail’ is?
%. a complex sentence %, a compound sentence
§I. an optative sentence 9. a simple sentence T

AN @ sentence and, or, but ¥f ¥@1 g% “n# wF compound sentence
A | &G A0 or WA TS 9= A6 compound sentence |




MATRIX BCS Series O 15 L0180
bR, (A #GS FRYE AT © T I TS 38, oL, 8b WA ey @y

%, 28) ¥ bvd

5T, 8b 9. 3% TEE T
mmﬁm 38, Ob TR 8y GF 7. 71, & JCHAW © I |

Gl Q8 0% R 8b A FH, 1, & = )88

. i¥B eI 2R = 388 © = 38)

vo, TEgafsias Temm e wurs e =

%, QU =L ¥, 99 RS

ST, SICATE #ATi1 +f, Gl TR Tea: &
mmwwmmaﬂmww.mm
AT BEHD YSTRISET THIPT (GTE & T g, S D T, W9

’Eﬂ'l‘ﬂﬁl. FTF!'S | . X 4
%, A ARG ¥, IS A9a N 7
o1, w7 vaE EaEeer Y tEmw

N T =TrF 2 35S AT IS GO SSTTETE A6 e e |
AT AP SHIT ADT FE WW @B & FAAD] AR A0CPd 2GR e PLALR
G5 g WAl | ©F Abe AT SES0 PGU—IIT WG AT T, FEES,
AL G | Tod THIYAT ADS THS JFE A0LPS I S LD A A+ed O
T | MR NPT ADS A TS ST 34 o= =TT 9 7 2o S G

& 9= storer?’
65. Noun form of the word 'beautiful’is :.,
%. beautifully . % beauty
sT. beautify 9. beauteous B «

@ Beautifiul (3*9)-< noun form Z1 beauty ¢1%%) | S=1™# beautiful-
<@ adverb == beautifally %@ verb form == beautify |

LY, AFICTE IES G IBoTS F©7
%, 300 W %, 3800 faf¥

st. 900 faf¥ ¥, Voo 7 Te=:
[Note: IRFATHE TG JBTS 00 GIf¥. A1 090 &, 1]

v4. 95 RYE T xv; G0 YT T oS T

mﬁ 2Xy-X 4. Xy-X

Ly €2y Texw

mﬂnﬁﬁmﬂ= 2xy
c. G0 AT X T FofED T = 2Xy-X

b, SIS 6 IRFATACE V0T IS WSg Al we? #. 93 ¥ ¢ofo
oI, ¢o O q. 480 T
[Note : (il¥ «91 Ffa==a SFare ¢80 | @ ar=if+ifoar smmd ¢eeft |

v, 57 = 93 q8?
%, fabm %, (Ehfaoa
I, CRLRBITNoTA . [THaoE Taa: o




M

RO 45w 1 “FewT Wy 73O 47 extempore | verbose = AT K ;
maiden = ¥ Y41 SEIHCH T | 99 straight forward = TIEPT#0T |

L 1
e, x*+ —TﬂﬁEIFm‘mﬂW x + —3=0m
b ¥
%, 2 -
e w1 Tea: =
]-+ is_ﬂ
%

1 _ 3 .
=>[:r—— +—+l =0 A )
X S~ N

l | 2, | “ﬁf*r’
X =0 |vx"+ ——F 10 e )
I e x‘- & — I..I

-, [.I'—l] :Omﬁw v
X B

.-‘_'-L
r
F e

‘-'-‘-:-_ 7

€ ¥

bt Tex:
@W“ﬂw'ﬁ-ﬁ ==, oFa, $&1, (= FM, @ WN | T, §+ 8 T
% N QUSR-S TN, o S 9™ |

®. 0 ¥ d3%¢o
5. 2® 9. 2990 m 5

@ﬂmﬁﬁﬁmﬂmﬂ davd I | @ faoiad gfag & davd-3and 1+ #e) @
AT TG (e TRl 3 6 APY |

vy, JAfegfie wve SR=Ssa @M T 3491 o7

&, AEE o, ASTFAIS

ST, BT g S4115 e =
M g o fegE WA ¢-b @FUE dvvy feErE AR wHEe frd
whTgEd aron e e e sfaftre el wfer e sww e W
AfeTt w1 FE TarEeT B |




MATRIX BCS Series o) Sohelk ]
@), YT OIS, WIS R P - A5l (7

%, ferewee 2w o, G YLATATGTE
§f, A ITA 9. TG TG TN Boa: =
7 ¢ O T AT (ODLO-IBIO) GIEFT SAT, IF JWEA Gl
[, (@ e 3 Sl T i (PTG ST+ 25110 SIYEC off s «ifapd (o |
@ . TAPm MRSy Fure fefde wrfem em Ao =, 3as +, Y889
ST, SB3Y 9. 559¢ B o
BT P ARG e BT T vy I | @ 4R T59fa e S
SIEET 4 | mmfﬂqﬁwmwlaﬂﬁﬂmwwﬁ

feet “Frar™ (352a-d59)) “faa | A
@. ‘(¥ &% 7 O W ¥ Gt I IFE A

3, (@i a9y o 9% AT

S1. Ha= ql9 g ﬁﬁﬂm @ﬁ v

aﬁﬁwﬁaﬁmwﬂmmmwww
AT, (I SF TideT A+ AT | (TA- cﬂf*ﬂm ww‘r—-rwmu

E_ m .q- mﬁﬁ __.,;_:_"'aff'::"!-'-.:«}

51, Aifeger q. '-ﬂﬁw T =

Taa: 9
Hwtimvﬂ_lﬁ’ﬁlﬂﬂ' {(B+3) x (+3) x ()}
=@ :)-E O X Q=90
@Y. WNET WHT HAES 1% @D ?
%, ofe o, S
o1, SR g, (@t T

T -GF LS - ol A%, AGS, GO, WEel, ow, F4uh | fearam
% SIife, kW 6 (FS |

@q. A speech delivered without preparation is called — .,
%. verbose %. maiden
s. straight forward s.extempore




MATRIX BCS Series ® e
@ﬂ s FPCS FICLEA ANS AT e A0S, T TEd “Ad S TF 51 34 |
T (TR PSS T(ES A |
89. Which one is a conjunction?
®. very . for
S, up 9. or Te%: ¥
Conjunction %6 @ a1 9 wordl® % =(a| (=01 conjunction-94
Twrzael =+ and, but, or T |
8. What is the meaning of the word ‘viva voce'?
<. Examination
4. A spoken examination
5. Face to face
9. Interview m ¥y

@ Noun 2573 viva voce- ¥3 = @lif%s <@ 41 spokentxﬂmmﬂunn QT
e ¥ | - -

I. : : - -.:1

8». ‘India Wins Freedom'—ga ¢4 &7 i,
. GO GIIEF 9 mﬁmmﬁﬂﬁf
of, TV STaE S q. mwww Te%: |©

Y S TEel SR e e ‘India Wins Freedom' (3@ &
ﬂW%WWlFﬁﬁbbkaﬂWWﬁwmﬁ?ﬁlﬁiﬁm
TSI SToid FXCUTE SIS [«4IDS =+ |
¢o. G fagred &t e wgore 1:2:3, aguiod o 3267 € ¢ THOI I 1S

.32 2y .43
o, 3:1 . 2:1 Te%: ©
- 44, mmmmx 2x, 3x

. X+2x+3x=180° |
- 6x=180° . %
~x=30° & %
N a;, h B C

sin30° sin60° sin90°




MATRIX BCS Series b e
8o, MIRETSRT IRFTATE PFrey R &S '@ I T

%, Y92 I do g ST, 99 G+ 3 iz

o1, %92 T4 »Y ferma 9. Y59 I+4 8 owa Bea: ¥
SCETSRl ARACACE DTSl T JRMAYW 78T SREAYW 33 MIET 359
T B T GR 8 ST AR T KfaEn 36S qC T | T 9 Y
FEPa T Y5 T4 dY forma (= |

8. YAa BIYAR ‘I oL BB —.
&, ¢ 99 STH SATFE % I55=
S, R4 % g, “1+#4d g% Ten: &

T BTG AT STl AHFTIS(6® S¥N Ao+ $44 | (T 4 AT SIgH Fora
TG T AWM AI6TST ALY Q OW0 b1 BLa | Slerd, a@ﬁm
141 biaa 12 | s |

8. T AMRTSTA ey Y TowRuTT CITHDY » % fi” 4
ﬁ'ﬂqw ¥, AGPRE Re
g, qusfmita 7T ey

aﬁwja’ﬁrﬂrwmtvﬁm*qmﬂﬁum a&mmﬁmam
TP | TR (Srrby) O A G THART | awoRE © FEgE T
TG Dot € S HI(+ LFI1S 2 |
89. Which one does not mean the opposite of dll"’
®. new «.recent  _
s, young g, different B ©

RMH Old (Frew, Ta)-® e “m =« ™ T+ different 7@ =€ o,
ST, 4F | STMCE netup <= g recent = 3f® @ young = 9 |

88. I am looking forward - her. .,

#. to see - 4, for seeing

1. to seeing S H. seeing Ta: 9
- Look forward to ‘—.ﬂ@ww ST @1 | Look forcoard to + verb + ing

=TT 5% 4 | SRR FUE to seeing A | To seeing I0TT oF@ Awd I =

TS (FATE WY % |
8e. > (7™ 8o P Tp | I WETA T WHTS (R (W03 d T Wa 4 TR |
T R orTTa W g W | VG S 6 7wy

#BB?}’G %, 890 §b
s 8% §b q.8) 0 Be®k: ©
@m AABC =i &sa |

. AC= AC*+ BC?

:mc! =402+ 92
— AC*=1600 + 81

— AC?= 1681
SAC=4]1

8%, 57 € FBTS (¥ *Mdi =TS BT I O I Iy
LT ¥ ST

5. BIFEA €. (Gfee TE: o1
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©8. 3 (U3 Yo «F WY IS0 MY &L J0F FAfBHC feT 47 TR?
%, 8% %, ¢fo

o1, :f6 ¥, oft 15
MOH 9o, 3 + 3 =3 + ¥ =2+ =92 +¥ =30 |
SR, @, b TR Yo 9% SED FRHTE HRID e 40T TNBATH 741 T |

O, YAY FAPE 3 FéWE *1E v @3 Tu Iy
. (T “ffaaw «, ZTfogw «ifaaw
51, THEE Afaaw g, Bt spsfre=m TEe: ¥
@mwﬂmmmmﬂwmmaﬂwmﬁﬁmﬂ
IR e R @ @ g e 39y wmwe | a1 o[t SEerE T
T vifaaw, Emmﬂm@ﬁﬁﬂmﬂﬁﬁﬁrﬁwﬁcﬁﬁl
Oy, ‘MRS IIF TSI 7 A
%, W TS o, ST = R
51, femrreife g, ifafew «ff TE: ¥

wwwaﬁaﬁrﬁawm»ﬂaﬁwm—mu#aﬂﬁu
| O A S (3b3) B SCAGE 4 WFTE TTA GRPE K oA
SN Do PA ZLACT | A w:ﬁuWM1

o4, NY g |WIvTF Ty
%, Y589 =19 R0 G 4, Y83¢ HIT=id d¢ =1
1. 3938 4 I = €. Y90 AT 3 =T e 5
BTG 3v T Svd8 SgEE TEe wes Sewin sFe IR Fre zew@ > T |
b TR S5O8 W [TTa TF T D) WS MO U2 ARa WY Ta49 S pie TFaS
| OE W ﬁbb:h—mﬁﬁsmawﬁwwwﬁﬁ@mﬁﬁﬁm
=¥ |

ob. a =02 @1 a’ =357

-._',.'-._
4 "‘l:'-l:b:.'# 2
o

#.125 . %.625
. 5 ’Lﬁ-}%__ b €925 m o
TT: a‘-"—ﬂ} b 4
1 #2 W Y
= ST
a 1 0~
-~ @f 2
| 10
=‘->(ﬂ’)" (5)*
- a =625
o>, Mﬁaﬁﬂmm YA T Ty
%, faran o (afarafe
S|, ATGH ¥ s e ¥

feoifam 51 (Sireafes abie)-w Sere v (@ @) 99y @ Send Frawe
J(+1 TH, (ATED 96 P <10, TS0 T, T4+ A1 IR BS IS Sl TG &Il
IS (Afd 29 |
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9. TP e el ¢ e
*, SR WA AmiE ¥, Wi = tareram

ST, DU WA 491+ 98 9+ TG €. O S A1eES S+ @0 B ©
FEFAEEE TETSE Te, T G, 49T YT € SHI0TF HUN TZPI5e

F A 72N <@ I G | IYfed TEEtEE g, o9 (3drd-2009),
IEAW @ NG HYTAE DY 959 WOIl WAUE [WEFAW | O FEAFEAa (7 IRFACACE

BSOS | WECAAE IS FASOI (@16 A@ren 2+« (PH) |

3. Choose the correct question tag to complete the sentence below: "You
have deteced the problem already,—

%. have you %, didn't you
. isntlt 9. haven't you ’Eﬁ-%

POy Affirmative a4 tag question negative Z¥ | 94 aﬁ:mauve AT tag
quesunn 99 (*a affirmative 9atH< auxiliary verb-92 negmm fnrm + sub

q9TE FA© 2Y | JOAR &e 4104 Jé® tag question, haven‘t m" ;

». Identify the correct sentence: ., e
%, She prefers dancing to singing. \ '___ fn
¥, She prefers to dance than to sing. i’
s1. She prefers dancing more than singmg' i
9. She prefers dance to sing. b Y TEE: &

@ Prefer-<9@ +#4 ¥o verb-<2 w19 ?I'ﬂ m verb-499 present participle
form 07 | 9@ TEECERT 96 verb-99 AT S (FICT 99 preposition = 90T to 90T |
J[&AR 7% 4% she prefers dancing to singing |

©0. T IR ST 51 (AT TR YIS T TS AT

%, J90 ¥, %08

. 3439 k ¥. 3909 oEE: ¥
o). ‘PrifewrE 3R Rowg Rt

» fmde=i veadl ¥, a5 H O

o1, Huavy o9 | Y. WA NP W Ba: o

@ S5 €3 (D0I-dved) B 6 WrAS | ol F@ o€ Ty s f@bhe |
TGl AP OIS &€ 4 I+ | S 91 Merer F9a o€ TriFa a4 Zoe «fafve |
O, TPTIS SrgeteAT 3557 emew Il 7
o, TEER ATH (IRl ¥, LN OIgS
o, offf® SEre 9. 34 TgaaE B ©
Tifed Goe 974 (1% $f59a 720 3¢ A6S WS FGaa- Jg0 L
e faeT’ | a@ivd SeT e gy (9 T&a IhET | @ 9F07 25
ﬁﬁmml
00, "*F ¥ @ Giv 0TIt RS IEAE?
%, ST & Alfew ¥, WEAE 8 O
ST, 3419 @ <uT Y. S[9% 6 RS TE%: ©
MY S « FRFNF | AR *F M+ 76 A5 RS FAR S TP S
SEE A | NS 6 TTEPIS oS Ak [Ggrod g |
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2

Sy
.'.m.ﬂz=[£] = e— =b‘|r$fﬁlﬁ
v 2
9. log x i‘ =3 T" x99 I F97
27
v —= «:3
3

1 |
o, — 9.3 %ﬂ
i 31. ﬁ

27 .
27 Y
3 (1)’ 1 |
=>%x’= | — X= —
3 3

38. ‘Nobody believes a liar." The tnr;.'eﬁ“ passive form of the above sentence
is: ., -* |
#. A liar is never believed by anyone. ..
¥, A liar should not be believed by anybody.
sI. A liar is not believed by anvbody.
9. A liar is believed by nobody. TE%: 5
Nobody §& I™i# passive voice-4 F7@aa structure : Ob 7% sub + be
verb + not + verb-9 p.p rw + b + anybody | %2R &w& a6 passive form
2= A har 1s not believed by anybody |
¢. IFTH IS Internet 7 (T o WE?
* 4G | %.5G
1260 S . 3G L
Y GFIE 033 VN HEE (5G) TIAES (B G 0T 0T AR e | G3m
T (oW SRIPFEESI O € BUNTN #CEED YW 5F] MR TS 3y (FEFUE Jody 5pd
HEH (4G ) TRIATES (1= (AR 5T AT BT ATt | 4% ST (RIS (o SAah Ao
TS 4G TECH & 78 BTRC TR0 #1609 *Ad% (WAee (@17 SAa0ae=1 GIeE 9% 19
2 S e 4G G/ 5 32 |

Y. We saw them — to university. .,

%. 1o go %, both

s, g0 ¥. going B ©
ROMOH See + someone + Oerb + ing form %=1 3% Sequence | J&AR VL
going Py A A A - WA we ffameig (e (e |
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3. I PO I8 S BT TS @Y

%, 19% g . *FAIaN

o1, famar& = g, e o BEE: &
g T Gigd AT TS drE TGt T IREATE WP RIHACE
SR B2 A | @ ) THHOE T THAGY LY A= AT TS 77 |

0. What is the superlative degree of ‘bad™

. wWorse % best

o, wnrst |, least T
P Bad (@) *ma comparative <& superlative form ZT borse @&
cnnrst | JSAe S3F TEF worst | SMLE best 93k least AT TGN good S

little-9% superlative form | 5
1 2 3 '
T e — FHALE FAYET % (HD?
2 3 4
n—1 2n (7 |
E_ ﬂ'. e "N li'}-';.:,.: 4
n+1 n+1 (am
1 n "
- v T ¥
n n+ X __on

n

H+1
W wwmmmmmm

&, Yoy Tieifw %, 38y &
5T, Sb FTIN 9. 8y =foifa TEZ: o

e e
O (=HiaFE 3ra2 Ie1E q 96/ | ©1f ABCD =sfreaita =4 2k (3xq) 41 38 ¢ifF |

s it astrwras a6 =+/2a

=\E = 28

>8

sas ﬁ
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2c ¢
= — I —

b d

= 2c¢d = bce

—=>b=2d

—>b=2x3

b=6
38. Which word is similar to ‘contract’?
%. arrangement %. management
51. settlement ¥. agreement TR ¥
RIMOH Contract = GFTAT %78 Fo~{a %21 B W T » 2T agreement (375,
(ART9GT) | Si® arrangement = J4UESe, management = W*Fﬂ 4
settlement = fer=ifa_ s
se. G o fAfrer 20% S GR A [T 0% mﬁﬁmﬂﬁmﬁﬁqﬂ

oo B T O PA TT I9? e s
#. )88 5T 4. 38y BT Pl *%J.;;-'*
1. 380 BT €. 3u8 T JJ Ten: =
- p
RO <51 farerer T = (}ooﬂﬂox —= )T;»"r-ﬂ 330 BT
-}p
-, 4par fareror A ar P _:;-Tt:(hiﬂflhkﬂx : ) BT
= (3% +38) =885 =y
o, TG ANGMG-> R .
%, T @ | o ey Temz
S, T TS i 9. T3 ogq Taa: ¥

THGY SO0 -5 ZLeAl ARATACE GG Fiaq SIS <IW | AN AL ST
8 AT FIGIS %A 2T T TG-SATE TS O (W 05 NI AT
Ty Flau T-SAUT O FHANL0 | ¥ WY ¢9oN 1 Zrwa Y Sumeenes Fd
CTiaaws So(ae & ARFCCH |
34. Tt has been raining hard all day.’ This is an example of — .,
~ %, present indefinite tense . present perfect continuous tense
“ o present continuous tense €. present perfect tense B
@ Sub + have/has + been + verb + ing + time %= present perfect
continuous tense <4 structure.

So. BT fafamierr cai= W effefds =y
3, YD A o4, 3339
¥, ¢ A 9. YD) AH 150

v fffamem ofopm @ e e W e ST zw ) 9 s
| fofere ) 7= ) Tk ot St @, &b S9a% ¢ vaq o e
e fyfemmeraf® @ == =7 |
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Q.

yo. The word ‘massacre’is : .,

2.

TCEE ST R e w0 iy
=, foamg o, FAEGIE
oI, GLHITE q, FeiEm Tea: =

TEa sraeE & frEe 3@ ftasa (DNA = Deoxyribonucleic Acid) | 923
T NE R A GGG AGF S AT | TG (I WAGS FeTe
sfaafems, s god (gale e FaEs aR R[S 1A ETE 4FF ¢ 9% (@ figs
<BTE OtF DNA 0+ |

032 M fPfa™ $o 1 @ R ST T
%, qMiee 4, el
o, S 9. FoE TE: ©

033 AR T P@nem 13oT SPE ST WA TGsT Ay SR
S e Swer [t g SRAT © ARACIOE WO AT o
FOA| WY A T @ o mmmm,mm
TS |

Fill in the blank with appropriate prepusiﬁun Jn’hs are “hard to come
— these days.., ~ae?

=. by #. with - )

%, both noun and verb - S
¥, adjective 'Ya
sI. noun
€. verb } Ben:
@ Massacre. ‘Fﬁﬁmuﬂm verb T=7 @ T9%¢ =1 Noun Zoma
massacre = ] RejF1S N4 verb RGTA massacre = TR T F4 |

The boat in the-padl‘.’na
%, sank ¥, sunk
s1. drowned 9. sink Ten: =

@WWWWM sink-49 past form sank | 3SR *+GECA sank A |
+ Sank AT &8 AT = NS0 41 TS FLI CF |

R mqmwmmmm WP Tawe?

Taw: =
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G TETPICES SR IR e Sepieaar adr el (Fw) v
#AW T S : 08.30.05;

W:bﬁ;ﬂ@ﬁ:bon;ﬁf:aﬁ;m:m-ﬁﬁ

1% <fSt w5 THa T o) (9F) TWE A | &fSfo = ST T 0.¢0 T HIO1 LA |

. WIASTFETNN LPRIETE SN SRR (P07
&, TATIIE=IST o, S 94 I+ 74
5. (ATECd . foeraoa o2 TE®: ¥
RGN STeeESTIR TernT 2T aww TuP BrwEeE G (S5vq) ¢ T
(S2dY ); TIF 75 QS & (/M TRUDT | S WA 0 T4 € ‘(MIGdd <3 4F uib o 2o
BILD STE & |

2. S WTwEe farn AT auw e ety
%, N9 SICF 0% e 4. IS A0, B WG Foa aoife
o, “ghod i . T S i 24T e «
TCH Wz |

©. (FWI0 A SIPCAT 512

&, Srele < A5
of, BB q. RIS T &
oG e 7 a1 Whe I v eufS | e (35)8) o Ao @@
*q |

4. Which one of the following is written by William Shakespeare?
<. Sons and Lovers 4. Pnnde and Prejudice
5. Man and Superman ¥.Romeo and Juhet TE%: ¥

@ Romeo and Juliet =1 William Shakespeare-94 <=/ tragedy | S=if=

Sons and Lovers =1 D.H. Lawrence-<92 =6 E++41 Pride and Prejudice &=
Jane Austen-97 <= T#+y7 | 9@ Man and Superman %= G.B. Shao-97 9%

o |
¢. - PSS M = T Toe— .,
%, SAGE ¥, F4 GATHIZE
s, fare Y. TS Twa: o

RN &1Ffe= ST THmeste 201 : e vo%-20% , B0 Y0%, A ©% |
aere] fAtea, 2w « RmnEs B AW arF | WA IREATI 1S oS
SHTEST e «faarct 5¢ %-35 .35 % |

b, RS Rrrgem by

*, 41ST 4. el

s, “ATfe! 9. 51 e o

@mmﬂwaﬁmWMmemw|m_
Gelel o] | AfNe, 924 29117 |
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ME~W€R.3TE-W%@»W*EE*WWWHWEHTEW‘T-

Hell T R FTIE Y -1 | F4ae! A0 S T4 & | @ AP = ThIe;
O + % = Ol FIHTET = SIE |

V. logo x =-2, X = ? [RTT# (7607, TE ((55-3)-3

%, 0,00 ¥, 0.0)

5. 0.0 ¥. 0.003 e 4
LA, I STEE R AT TN @0 ? 7707 @797, TE ((05-2)-23)

F. JECTE 9CEq e 4, 7199q =P

of, Wrstemter 9, S22 TEE: 5

EMmemﬁbwemﬁmﬁﬁﬁmﬁ
Hﬁﬂrmmm%ﬂmﬁu—mmmﬁm—%ﬂm NS,
PP O%+ , [457% gofe |

ub. I only want...... little sugar in my tea, p]ease ﬁ'mmﬂ %

(6T )2
a. some b. few -'
C.a d.such Ans. C

L. WBY KT ARTERT TNTP- [Fe7r F g, T (@5-)-23)
3. G2 00D - T 08 4. G2 00 - T 03¢
o, IR 0D - G WY T, TR 0 - I W09 Taa: «
RO AR @ o v AT Affew ax w1 waR ) 97 Wg S
A S] AfedgT 9% S TWR | 99 WG 96 A Ed AfFwgn g IR
R b ARATD ATSE N AR | D TOEE, 00 AMH IRATH
AfGg= ST AT FGoi1G o5 by ARATES ATPFT A0D-WIC A
BCIG SN (7F | Od Ufod SIS 491 TR T, 030- T2, 03¢ 96 |
Q0. TRSTFE GHB AT (A 2ATHT (UL | T CFATH Yoo JMALIE T BT
AT T3 [T @F7T, TE ((55-3)-33)
%, Yoo f5Ig ¥4, 330 T
. »o fiB 9. 380 fG™ e =
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ed. (5 x 8 x 16)/(2° x 125) 2 I« AT @R [ @ay, 7 (@5-2)-
2/

%, 0 ¥, 80

5. O¢ 9. 3¢ T 5
Yo, BN IRFAT JIFATT SITHT | (PN FIAP? [RATH (77617, T ((8T-3)-33]

F. Y FAF ¥, A4S AP

51, AATATT BEP 9, 9 9 Ta: 4

@mmmmm@wﬁwmmmmﬁmﬂw
(PR, (B JICT, T4, (B9 FNCH, B, (FF QG 1 AT PR Lo AT
Ol TEd YA A ATSH I | (TNT— QU AT A ST | A= T

feare’ SF? 4rea T&d 29— 1 T399 | JoaR (42 4 Ted | o’
L. mﬂmmmﬁwﬁwm{wwmm i&f(m) Y
%, NIy <, Sfgare |
5. Afapd 9, 9Fa< R TEd: &

mﬁrwmﬂﬂwﬁaﬁmmﬂﬁﬁwmn) « Afasm
WHWWWWEWWWWW
&l 8 SEted of TEITel Aife B(a g AT FMaE, Siael 8 g Ao
ol | B S99 e @{ow saeE @ ofae FfEe s qey Afaew
FARN0ET ST 51 AT NPy / AN 414 A0Tg... T T 2ol |

LR, BIFoR o) W W (I GAC TSA? [ @, T ((05-2)-23)
%, (S SraeT fereraf<rer Spreare

I, (T 99 feloea=M

Sf. AIZPID STPID A9 (ELoF N0 WISUT

g, farg g=roete 992 @50 e ¥
Lo, @R e 2ffe=m T2 (7 Eay, T (@5-2)-23)

%, HAIR ﬁr. ﬁ'ais

51, difsm TEa: ¥

EWWMWEWWWWWWW,
TORW , (ORI | AW . AYE , 5912, T4, FMae |
u8. AfeT *It3a RoAre =% (W0 [T @erz, T (@5-3)-3)

%, fauy 4, Jafas

of, fa=y g, A e TEa: 4
AfeF-ZZFS TS | 9% TR | AR A S | A TGRS |
ve. R0 NCE TS A% ([eoa? [ @aay, 76 (@5-2)-23)
%, 99 + qF ¥, & + T
. O + auT 9, I + @9 BEa: o
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ex. aﬂvmbmmmﬁmbmmwmmﬁ

TS FO? [FA07 (FF6T, T (E@5-)-22

$. drbe. 9o 4, 3¢9.80

. JbE 8 9. 35380 Taa: o
¢9. Education is enlighting, here enlighting is /a7 (@ew, 97

(ET)-]

A. A gerund B. A participle

C. An infinite D. A finite verb Ans. B
8. S e AfS @0 [amm @aaz. 76 (@5-2)-23

%, 39 =19 dife 4, @r4E 9ife _ TN

o, IFoF dife 9. (7741 & 9119 dife A w®ER: Y
ee. WWMWW@?M(MW@&W m#{m-ﬁw

%. AOECM 4. AEOCN = [

s. ACEOM ¥.AECOM =~ - Bea: ¥

RITH erar A o ffife wiew (3Frm) - wifem (*HiTed) A wafge ‘o
oy 99 fofesied 9o +41 28 8 TR, wod T+ | @7 7§t oF T q forma
2038 IR T INGF Trard 41 =0 32 O™, 03¢ 3= | @@ tv9f v.ae S,
qR &7 db.do 6 | e I PeE Site 830 @ i Sk 8% | T Gigd
T 4o g AECOM & 4 orgd Fiosmd efesm s oa &w
2fEfrafae @i | 2@ T, 303 AGTIE =< T 4T OTg SR o |

@Y. ‘Once in a blue moon' means [T @@, TS (@T-2)-23]

%. always _ 4. very rarely

. nearly " hourly e «
¢q. AT NPT 4 Sy 17 [ @am, a1 (@5-2)-23)

&, 9GN3 Far o, ST e 40

5. GBI ARSI q, fa&re aren Ten: &

RN ST T A @ e T e W SR TR A e
“SqyETae 41 devaluation | aft =1 =7 g7 fofme g9 weifes @i | 799
TAC ACEA AN ST+ A @ ed A sifote Tare I o9 a8ii+s gaifie
B4 G Y9E SN AR T TG |

¢Y. AP *HA W (2 [ @warm, 78 (@5-2)-23
. A o, &
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o Y (TR WY - TEEE @ (LDC) (UTF IRATACE TGT T (A0

B Traaed CDP @2 spifa aifoskied s vfasts quey (@4
80O (A T &S & |

e CDP @7 /9 W@, A= w0y AEE g LDC i s
AT TN IET el Yifers =9 |

o AW TFe (Mr “AfFcre TS THETN@l e SATE 08D I |
8br. (I A FRT=1Ererd Re=ree IRy (75777 @7y, M6 (@T-2)-23)

%, qita 541 <, TAIGI 44 &S 5=

of, (T #eliar 9, (NG S0 LIcE

%ﬂmmmmﬁr‘mmmﬁ@mﬁ?ﬁ—w o
farrs9ty farerss a1 | .
1 Rrersres Roree: W-mmqumaluﬁwawm |
o fererarera faereet: ats ofc e 5091 |

8%. mmmmmqmmwﬂmmiwmtamq

v e SarefBd NI S & | [T @mam o (@5-1)-23)

%.9/8 4. 9/¢
9. ¢/ e/ 7 Ted: 4
¢o. IRFT IfaPTE W I FM? [Herr ETaE, 7 (@5-2) Y
5, qﬁf.‘ = LK bﬁf“
5. oft N l:rfﬁ‘ Tea: ¥
. W@ﬂﬂ suﬁ* A, & 8.8, ©,9.8.12.8,
(ﬂfﬁsﬁ?) (g ufb)
@fm—ﬁﬂbﬁ‘ . * 5. 9. 4 g o N
(799 3% ) (Frgra afp)

l_-'

o NI : 03 | (TS L B + FoTEt QD)

@S. SR WreeF (Afbante & 01 2 [ e, 9% (195-2)-23)

%, gfc ol ¥, Torera

of, THAGTSIY SIFl q. Sefee orE Tea: 4
RorgH fafSe Sretera STt WTEE Yoo STES el ST A | TS S
S A Toforer | offedid @ SmEz Toem Sk Ay (oftwew), argefs
(APSTATH 5N TeF ¢ ATTAST 94 Jwe=) | AAFY (AFNTAF Taa A oaress)
A (AISTCATE T4 " Sewe ), S ([F2raa oF ses | 4fowarra Tea

Y 8 ARFANCACHE R Fgee) | 49 (ARATArE 99 eew1 | (9@ & Ipited 9919
eee) Aghe DAL SHASEE =71 |
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1 1
8. X + - = 5 TW x° + — =7 [T @GaaE, T (@5-2)-23)

x
%3¢ 4. 3o
5. 3¢ 9. 3¢ TaE: ¢
8. AP € ETST AP RIS ILACE (I AN [Fe77 (777, 6
((FT—)-?]
%, (afae o= o, W& Sl
of, e@=ora e q. G e e

ROTRUT] ACPToE & GTST SRS SRYS SACE JT 2 )

8w. Find out the meaning of the word "Forthcnm]ng" 'hm
(@, MG ((A5-2)-3

A. Disposing B. Disapproving

C. Approaching D. Incoming .  Ans.C
88. Which one is incorrect spelling? [@a7 @<7, mﬁ‘aﬂ—q )-23]

A. Greatful B. Lieutenant -~

C. Assassination D. Regret 7 Ans. A

45. The most correct translation of the sentence “S/<F &= SN

JEVIG" IS [F7077 G, TS (@5-3)-1

A. Make place for him.

B. Manage place for him.

C. Make room for him. -

D. Make accommodation for him. Ans. C
46. Which sentence is correct? [ @z, TE (@5-3)-22]

A. Many a rose 1s bear to blush unseen

B. Many a rose are born to blush unseen
C. Many a rose 1s born blush unseen

D. A rose 1s bear to blush unseen. Ans. C
89, IRART FTI LDC TS TEI FMAY [1777 (2777, TS (5223

?F R0 ¥, 08

. oY Y, 090 &Eq: o

ALl

o I d9ae <1 LDC (=4 OIFio Sug® =4 |

® 0 AT - GIfoRTed IR"fos 8 IWEs H1eHH+ (ECOSOC) «a
Taww Aife fagw® 3% 41 Committee For development policy

(CDP) dr=itw=it+ Least Developed Countries (LDC) (4=
TCEAEE &1 24 Fefe (T |
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0. SUFE T AHfe e #fEe AT T 3F OIS........ P |
[Rreaare (@F T . TS ((F5—3)-2)

&, SCGF 9, Q2GS

of, Pif%2T q, A TET: 4
w8. What is the single word for a hater of mankind? /a7 @7e3

MG ((45-3)-2Y

A. philanthropist B. misanthropist

C. humanitanan D. hatred Ans.B
35. secA + tanA = 5/2 T, secA - mmaamwtarmmfw

(0F5)-3

%, E -a-[ E

2 4 R

¥ HE SN B
0L, mmmwm aﬁm‘mﬂr (AT @, S

((T5—)-

¥, 2T gFTTy 4, TSGR (a1 Sb

5|, FIICATTH] 2016 S5 9, 0 SR Gy 99 e Bed: of
o9, TAIE e SIS RIE 9 Y 31 IEA? [T5707 @747, T (65-3)-23)

<. UNICEF 4. UNCTAD

5. UNHCR .~ 9. UNFPA TaEs:
ot G J0&T cwae™ 038 I i <1 TxgE I T [T (aw,

((E5-2)-3Y

%, Y0 (1N R 4, ¢ G

RGN 2 9. 3¢ G Ten: &
5. Budget'tm Fﬂﬂfﬁxﬁ@ﬁw TS (@5-2)-23

&, Yo Td : o, Fb

5, %] 9, 971 TEa: 9

8o, TR0 4R g oI - (FIF A IW? [A15707 @77, 6 (@T-2)-23)

%, Gioe ¥, Jifsr®

of, 3G 9, 5 Bae: 4

oo farers v a1 Srelfes a= 1 fi arey e = 9 ft 75 I

39071 . oS AN IRT 4= | IS aEa Seste Farors et a3z, S,
g, 1, 8, S9a, S, IR, OT, T+, UM ASfC T T RIS
NS ATE | @ TR G f5g Fore fof S fag 2o | STy i R @R

feeitw YTeie |
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¢. 93t e foA Il Wem a i, v i e b IR 1 @@

cwaon g 39| [ @, a8 (@T-2)-33)

%, 3¢ .8y 4 I 4, 3¢5 9 ¥

o, u.bo Ff G 9. 29.5¢ 9 ¢ifw Taw: o
Y. Choose the antonym of 'castigate' [@r:77 @az, 7E ((€5-3)-23)

A. provoke B. measure

C. reward D. nddle Ans. C
9. O ST 0 A [ERITH 1 &0 T2 [ @aaw, 9% ((605-2)-23)

%, S+ fargll o, AES e (o

of, T i . o . e

o @ U 9% T AW 41 BFEE T TS Aive 2, @R IS

¢ AUUIEST FOR (W U AT (9 . OF TGS Tl 90 |
o STATST IO IS MrH TGas Sve 20, OIS A% S 40 | N

T fopra W (AN |
b1 (07 b1k | (&SI N

(2T (3T T TI2© 27 TPNE ATNa® 1%l Sieae 24 |]

b, G0 T fagred ofY ¢ W RS 3 G ¢ ¢ i | TF wfogrea
o wES FITems oraes 307 a7 @aay, TE (@5-2)-23)

F. 3¢ T @ <. 388 95 (1

of. 33 ¥ 1N o 9y T o Taw: ¥
3». Choose the synonym of 'entice' - [ @y, ¢ (@5-3)-23)

A. allure B. follow

C. hasty D. facid Ans. A
9o. X -Sr= 2 IR Xy =24 T X + Y G NF FO? [R5 @97, TE ((95-3)-

F.50 4+ v

9. i‘hﬂ M TaT: o

o). I @ I TS I AT Yo% I oW, I O cwFaw
ST IS I AP [T @, TG ((55-2)-23

$. V% 4. %

. 0% 9. 5% % T &
0. Meaning of '"Wild goose chase' is [ @@, 916 (@5-3)-33)

A. Worthless job B. Obsessed mind

C. Engrossed D. Simple work Ans. A
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34. This is the house ... I want to buy. [@& 07 @ay, 716 (@5-2)-23)
A. this B. whom

C. which D. those Ans. C

18. Choose the appropriate word: He was .. for murder. /@
(T , TG ((F5-3)-33

A. hung B. hanged

C. hunged D. hang Ans. B
3. 9 +3R +39 + ... ¥ vo T oA B €7 [ e, S ((5-3)-23

F. 8BC 4. Rob ¢

. B 9. ¢W '@ﬁ-ﬂ
0. U2 TRV SRS TR (@02 [mam @=ew, 7% (m—a)-aaf |

®. wigel o, s U4

of, TS ¥, fe3gs | Tea: 4

abwmmmmmm
%, SRS, (<10 AT 19+, fem s, cogne

of. faq AR ET I TE: 4

g T Yo =W SIREEE 4 ST sl It aRATArE

AGY DI *R(4a [9o¥ Ete S4Fe GFb O | GO oNes S

fifae oMM &= 9R TTSNSET qET ATSTA &) P oS Lofd w4l

R | ¢.8 994 TSI Fe oMEeEn q@+ ¢ ofe NEI=EEd AfapEr
Bl |

2. O ‘Henry’ was an author of- /@777 @73, 78 (@5-2)-23)

A.England =~ - B.Scotland

C. USA s .’ D. Canada Ans. C
0. @ TR e ﬁﬁl— G I & T2 [ @=erw 76 (@55-2)-23)

®, TG00 : 4, W&

5, \TCAIpI q, qaEl TEa: ©

@ =raa & =7 =1 = ST
e farw =@l = et
@ e e e 2mre = w1amT |
A <44 TR @ F@ Gifae = 41 41 Fa= " |
W A feesT 8 = S |
. What is the meaning of 'a white lie'? [ @=az, 718 (@5-2)-23)
A. Harmful le B. Useless lie
C. Harmless lie D. Iirelevant lie Ted: o
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C. Let the work should be done right now.

D. Let the work done right now. Ans. A

10. Choose the appropriate word: He had a ___ headache.
[T (FTSLT, M ((FT~)-*Y

A. strong B. acute

C. serious D. bad Ans.D
3y, (I 0 HBP? [0 @aT, TE ((F5-)-23)

%, WP 4, W&fq

of, AT q, Wz« ’Gﬂ‘-’l
SR, FAFFAME 5" (I T A [ 173, o8 (@5-3))] %

%, FEAT o4, AGS o ¢

5f, ST q, Y o tﬂ &

@wﬁﬁ—mﬁmwmmw AT AR
THE NS [T G2 SIAET BN O FATT BEATE | D I fel AraE
AT =ad 9% (SLEle IR DA AGPAS ACS 4 74E &% DAl |

9. ﬂwmwmmwmmﬁm . | [qreEm

(6, MG ((FT-)-

&. I 4, S @G

o TR (P 9. &g (M Tea: ¥
8. TRIPS & 1% 7 [ar:aw7 @7, 715 (@5-3)23)

A. Trade Related Aspects of Intellectual Property Rights.

B. Trade Resonal Aspects of Intellectual Property Rights.

C. Trade Related Aspects of Intermational Property Rights.

D. Trade Relation Aspects of Intellectual Property Rights.

Ans. A
y¢. IR Wi SHAOIBT (I STrEres &7 [aram @er . 6 (@5-2)-23)
%, 9fne <4, Qil9g
of, g q, 9 Tea: &

@W@wmwﬁmmﬁgﬁﬂm
AP BACS! | (AN And, AEG . Y97 Tojim | @1 oy SEE 91 0l | Wi
sHte #pfere fe gifas tdie o 88T ¢ Wy Ste o SfSs tmdia o
qeeTa Sty SfgariTea s fee s |

Y, &R T ==~ I It [ @z, T ((@5-2)-23)

. 4y 4, gifcHime

5, SopTef 9, &gy TEq: ¢

@ﬁﬁﬂmmmﬁ|m foT+arg = OT%, WY+9 =g |

G "o @ “wy gfeemes |
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09. T3 YT &7 O I A7 [5707 @77, T (@5-2)-23)

%, AW SO 9, SCA-T8C

5, WI-BACY] 9, yred Vi Ted: ¥
Wﬂﬁrﬁﬁn} S-S0/ WI-BNCS! A5HEd 99 *idrel | Widd Wik
1574 Y SPINCE 95 |

08. The Author of the “Taming of the Shrew'- [@&7 @=ay, ¢

()22
A. G. B. Shaw B. T. S Elhot
C. Shakespeare D. Milton Ans, C

0S. His proposal was found ... conformity with our ofﬂce
regulations. [@&7 @y, TE (@5-3)-23) &,

A. at B. with R

C. on D. in ~» .Y  Ans.D
06. We waited until the plane  [TFTt ﬁﬁ'ﬂ #(WHJ )

A. had not taken off B. took off

C. had taken off D. did not taken off Ans.B

hm'ﬂl ¥t until @91 96 clause §& AR ¥4 principal clause & past
indifinite tense - @7 | Se«= FNEEEAT subordinate clause 5's past tense -
@ T ALY | GUHE P GR N 1, 99 until FTE2 negative TSIA
©I97d [FICT negative expression 2@ 7@ | S@el T @& €' e perfect
tense 4SE ¥ TEab2 DS | |

((F5—)-
FROE™ - 9, “%q fawfe
S, TGS *F ., 9, 4vd o= Be: o

@mmwmﬁwmmﬁawﬁ—@ Sic A ok
WOTGS NI A4 | @ Treld @GS *THa G414 AT TN Fgs Qe |
@GS e 94 Ry 91 AP Jojlv (@ | @ 38 4T 619 59 |
THTEAE T DA wﬁﬁ?mﬁamwmﬁu

obr. &0 MY WIS 5:7 R GTWd o, T, © 4 T, YT 1204 #1. 1. ©
PO [T (FFET, TG ((ATR)-2
$.¢o 4. 380

5, %o 9. )¢ Tad: 9

09. Select correct passive voice of 'Do the work right now'.
[T @, TE ()2
A. Let the work be done right now.
B. Let the work to be done nght.
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va. I TS @ AT e AfRATS T [T @y (R s

IPoTT)-2)

%, fafese CR I CLET

5, HAf5T=T g, fafead e +faazs Ted: 3
LY. "R Ieoifere o ¢ e o <oy o= [ ez (eer eehe

TPo1E)-23

. (NS ™ =¥ o, @i ™ =

o, ®fp = = q. TATAp % & Tew: o
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%, “IG 4. Cae

s, O q, sa Tad: o

W 51 foodre =m: G54 “Ie-%e: BT (BTN o4 |

ATH =T MTE (6T SIfY: 39.00.2033
0. ECNEC 93 % (SN (2 [T:777 @7, TE ((55-3)-23
%, dAfase 3 o, e
of, SETer=IT+1 aT 9. TG N1 Bed: ¢
ECNEC-97 @ %= Executive Committee of National Economic

Council | ¥ &6 oog SEMETE (F0a IRAACE AT CTae dogeam *faaw |
o afcBe = v T | Sfufod dym e SHeT dyW (HYWNET) | ST SYETRa
SeiEfere @ st 2w g |

oX; ‘TO-AETE (I W GG FAAA? [Feama™ @y, 6 ((55-3)-33)

%, favarend o, =

s, fararad g, Sed e ¥
ROTT % ST H0ES &HI0A e 2 |
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¢d. A @@ 5 =t 38 : (CosA-SinA)/ (CosA+SinA) = (1-

V3)/(1+V3) [areme @iay (7w emanaiss T57)-23)

. 90° 4. 30°

. 45° 9, 60° Tea: ¥
Yo. WY ROT=# (I (&3 NNS? (415717 (F71 a7 (2o (A5 TP579)-33)

&, FTN9ZI0 4, |

of, G CRUIETIE] TEq: 3

Yoa3 I 2fa-3ed pfe S-RIf waw SPErATel AFIMCE. B
sfeie T | TREIN-STACATS] FeN-[H20 (Gea AN SAGHTT Gl
fRb s | ﬁﬁmﬁ?w—mamuﬁﬁmmmwﬁ
WWHW@I

L), x—;— 3 T x2 +—?Rrazﬂmﬂmw§?mmﬁ-m) qq,f

F. 59 4.5 A K

9. » q.5¢ Y Tew: ¥
L. FED B Ttw mmemmﬁrmﬁ-m; Y
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. NO> 9. N> Tea: ¥
vo, WS @ Fror [ @z (REF e ToR)-2

5. 914 ™ s Rt

o, 3 foF Y. oy o TEL: 3

c&'ﬁwmﬂﬁﬁs@mqﬁwwWﬁﬁwmﬁaﬁmm~
e, 92, TN, Tt JoNw |

L8, A0 YT FAE Soo | 3T 8 T MY T 2w 197 € 8¢ YE A ¢o |
mmmﬁmhﬁmmmwiﬁmmﬁ-m) 23]

%, Yo 4, 0

. @ Y, 9o Ten: o
Y ¢, B GTed AP 7 (a5 (Faw (ewd e e 39517) -3

%. C,HsOH 4. HCOOH

5. HCOs ¥. CH:COOH Tea: ¥

Ly, Sftr REweaTa TUw @9 497 TR S 415 ArT (RIS 02
[areeTe @FarE (FERT RIS F519)-33)
%, STRIRIGR ¥, 4 [

o, TSR G 9. 3@ Ieoe Taa: ¥
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S50. Chose the pair of article and preposition for the following

sentence. Water is ... important element ... the environment.
[T (@ (TR (AN I51E)-23]

A. an-of B. a-of

C. an-on D. the-on Ans. A
51. My father arrived while I ...... the book. [@smm @=e (eed

(FRRA S TP51F)-33

A. would read B. had read

C. read D. was reading Ans, D
52. Choose the antonym of despicable. [@s7 @sz (ﬂﬁﬁ'ﬁﬁw_

TPoTE)-3]

A. significant B. satire L D

C. famuhar D. allure Ans. A
@9. */ 8 Y1 TS & o2 [ (7w (wﬁ%mﬁm}w

. f[asf= 4, 4y - il

9. &Ffo 9. 36 - v Tea: o

™ A TS Mo A | 743 e (IS “Mid 9R a9 ¥
FI0e PTa 41 (NIFS Qrgl®: NYETe 99 | ;

¢8. 10kg SE9 3 f5g 3@ e*@ 10S I™ 10N I+ 4™ 391 = By
WSS TS a7 @77 (725 @ ® F9579) 23
<. 300 4. 500
5. 360 : 9. 200j Tes: ¥
ee. 3 FER Fge O oo Gifi, T 8o TLA. T fogw IS
1.2 (a0 e (ew e s w5)-33)

$. R0 4. 80
°l. ¢o ¥. 90 e of
@¢v. NATO & [srrm @7 (72979 @enaits 59579)-23)
B, e &0 4, Sfes &n
of ; Afifes (&o q. fa% &% Tan: o

Rt NATO: «=f5 smafas s | 501 anga fRerrs smafs s et

& |
@q. NSRS T3 SRR (PIN(O? [T (G747 (72a2 (eI To/4)-33)]

%, A+ AT 9, qE+AE

of, AT+ ATCwd 9, i+ Tea: o
@Y. (FIAC SAIAICT G [F707% @ (REE (FIAAGS Fo7)-23)

. 4g 4, cleifs

51, STl 9, &+ fage Ted: o
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89. Choose the correct spelling from the following alternatives

[T (FST (TR (IS IP5IE)-23)

A. infrastructure B. infrustructure

C. mfrastracture D. Intructructur Ans. A
44. Which of the following is not plural form? [@=# @ay (wad

(FERANeS IP674)-23)

A. bacteria B. formula

C. genera D. media Ans. B

45. oSS ww @@ 9@ W@ v, », 9, b, 9, I TR T © wE 7R
mﬁhhmmﬁwmmwmﬂfwﬁwm)w

%, Yoo 4. 30 |

5. 380 9. d%o Y Eﬁ |
84. Choose the synonym of 'obscure RT'W m (ﬂwéi‘ (RS

PorE)-23 (

A. pure B. accurate

C. useful D. unclear " Ans.D
8a. waﬁmmmfwwmﬂerWJ Y

F, AFPT

of, SEPTSI TR 340

8. mmmammmmmwwm

(wd (RIS T577)-23

=&, 30° 4, -40°

s, 60° ¥, -20° Taa: ¢
8%. IRFATTH* (FSTHT W0 GR*N GO [T (F9F (RET (FELNDS I957)-23)

®. 411 8 % 4, SN 8 Fr41SG]

of, A S AT q, F4ga] & SIS Taa:
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oY, WITHTPE AN ¢ % @ MU 9T JITT IS & FAT 6 WfRES
QAIITI? [R5 (TG (T2 (A S FPo7E)-23)

®.3¢% 4. 0%

1. 90% 9.80% TaT:
4. In which sentence gerund has been used correctly. /@

(@G (T (RN © T517)-33)

A. I saw the girl dancing.

B. I am dancing on the floor.

C. Dancing 1s a good exercise.
D. The girl came here dancing. - e

' wmmmmmmmmmmmmm
(RS SB1T)-23)
%, NGE (1% Tree #i12 o+, JerstE Peo ez
oY, QLA (1% 12 chﬂaﬂaﬁﬁﬁ# Ted: o
5. me%mme(wﬁmmﬁ-m}m
5, “ 4, )
5. ifel q. qf Tea: ¢

Mwwmwmﬁ yoifeqa . o=, SF-fa=, (@me oF, *i®
o], Wie., WIS, o, cﬁnﬁiﬁlﬁz—dwﬁmﬁ—mﬁwmﬁﬁwnﬁﬁ

Z(HR SMEE T+ SAW |

8o. UNESCO 97 va W8T (PRT? (5777 (F767 (728 @0 T579)-23)
F. o : 4, 2T
5, Fegs e 9, (&C=1el e ¢

@ REIcea e WTO. Red Cross. ILO. ITU., WIPO.,
UNCTAD. WE NICR ﬂ\_sz YT € TRSIIE ag MEa. TSAIGa TG

MEF. IRD. M/CA. IFC < ICSID-« w4 wed. SheaE s OPEC
[IAEA s UNIDO ¢9 74 w&a & 79 “7ae1 UNESCO Interpol 49 swd

AT SEEe |
8). Iowed @W FaE @ e %7 sarerl &1 s [ @aw
(% (IR S I517)-33]
$.q . CR|d 4, Yo R 18T
. © TR C18d 9. ) R O8] e ¢

RN 30 72 GT-0784 | 9% G caea Fefire o i fee 1

8. (P T T TP - [T:707 @T (2o (Ao T9577)-23]

$, Qe 4, A2
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vo. I WASFE IS ief 0 Ao ¢ 2% s fom | Ta s

D g AT AP A CFAPH PO [T (F76F (TZFH] (AN S IPoH )-
3

$. 30 4. dbo

7. 3o 9. )9¢ Tea: o
©3. Choose the correct translation of ‘T IR «fey I, =% =7

[T @GHET (R (NS F51F)-2

A. He works hard., 1sn't 1t?

B. He works hard, 1sn't he?

C. He works hard, doesn't he? T o 4%,
D. He works hard, doesn't 1t? . BET: o

32. Fill in the blank: No sooner had we reached the station ..
the train left. [@s7 @@ (7w FeEaHe W5/9)-23)

A. when B. then -

C. than D. but Ans. C
33. Choose the correct translation: 'ﬂlﬁw m T T AN 1

[reeaTe (FerE (TR (eNive woE)- .~ )

A. I could not laugh his proposal.
B. I only laughed with his proposal.
C. I could not but laugh at his proposal.

D. I did laugh with his proposal. Ans. C
©8. @ +U+33+ 38 + ... Hmm P W ObO? [T @y (T (A

TPo1E)-33) B,

®. 538 4. 53¢

TR 9. 339 Bea: §

oe. WWW CWIZ (FIRI0? [FT07 @47 (72FH (FFAIGS SP77)-

R T L

.47 4, G

of, eTaTTal 9, @S Tea: ¥
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P AO® OIS 1 Y SANT . FF A 5T 1 341 ALk SIS a1 =F
THAY | SO 8 TATHLES I6 AT 4 AT | @Y TN T Fh (3 =
SATRLE | G S T R TP TCAW | PG A AT 6 |
YA GG S taa Y TSANFEDS Atad (@ S0P T4, SI® SANE SiqEd
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29. Beowa Rrees 97: 3x2 + x — 10 [F707 @597 (72912 G50 ToF)-33)

F. (x +5) (3x - 2) 4. (x +2) (3x - 5)
f.(xX-5)(3x+2) .x+2)(3x+5) Ten: o
8. b ARAY7 ief L, Agrsed A G Wi 1@y P & [ @ea
(TS (RN S T7572)-23]
%.p=RA/L 4. A=RL/p
s. L =Rp/A 9. R=A/pL T @
2¢. ﬂawsw-mﬂmﬁrhrﬁ?mwmmﬁmﬁ-m;w
%, we 9 o, @g7 &<
o, Wiﬁ g, 59 of *Eﬁn‘
F@Mﬂﬂmﬁrmﬂmﬁaﬁmm
FINEE w2) 41 [e=aEIg ¢
PRGANY | oy a4 B
B iR LAER R | 9ET A IR T 4
|sewgass | v
EEEEE EE

SO FoT oTEaT TTEIT (5T @ Yo¥ @) |
Y. 'He cut a pencil Identify the tense of this sentence. /77

(FGT (TR (AL S T077)-3R)

A. Present Indefinite B. Past Indefinite

C. Present Perfect D. Past Perfect Tea: ¢
4. H2S04, @9 S @3 &9 RAT ﬂ‘? AR (F7SIT (R (AR S T701H)-33]

%.6 4, +6

o, -6 s UL 9. +4 e o

. '#m‘ﬂ'ﬂﬁ /e B 317 [7507 @ (EwE @i e WoR)-

i )

F. Y @ <, = @fer

of, OiFTd 4l 9, J&7 @i Ted: o
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oY ARETT EEete e @eeE o oft: JerTe, oRrE @

ITCATCOIS |
S¢. G MA@ 4378 b 8 73,8 38 | GI0 WA S T T F Ao Fo?
[T (FEE (I (RIS I9619)-33)
F. Y 4, 38
. br 9. Yo Tea: 3
Y, SRR w1 Tt [ wd Ime www [ @ (e mwerahe
TPo77)-)
%, fg 9, TFSIE
o, effcee 9. 2%fo e Y

39. Choose the correct passive voice of 'Who tal:lght you
driving'? [ @isg (75 eSS F51E)-23
a) By whom you taught drnnving?
b) By whom do you taught driving?
¢) whom were you taught driving?

d) By whom was you taught driving? Ans. C
M, TAHFIEA TS IS SIE? fﬂﬂmﬁﬁﬂﬁﬁﬁmﬂﬁ‘ﬁﬁ)-ﬁf

F.2 4.8 |

5.8 s Tew: T

5. Which sentence is incerrect? [ 7 @7 (7255 Famioe 59o79)-23)

A. They selected me captain.
B. He went to Ramna Park.

C. He has not came back from the work.
D. None of the above. Ans. C
0. TSR (PN SM TU? [T EFaT (7201 (@S 59517)-23)

%, AfaFae 8 S0 o= 4. ST =19 F41

5T, SEPRAIT STl q. qIfg swre Taa: of
[ 0 AP TS 3: J T O TRAPCR TS FS7 [FRe07

@G (4] (A © T517)-23]

$.:9 4.9:8

w.8:) q.3: 8 TEa: ¥
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®. The day of my sister's marriage is drawing near. Identify the
underlined parts of speech. @77 @z (7Zsr FHHHLS T577)-23)

A. adjective B. verb

C. preposition D. adverb TEa: ¥
So. IRATTH (TSRS TN OF- (707 @567 (ZoR) (FaHIbs Fo12)-33)

%. 3¢ “SWE, SbLR 4. QR St

5. 3¢ Wb, dpot 9. ) ferm, spa Tea: o
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| YT Teeemramm |
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mmﬂmﬂ | @. 935, ax, SNFENE

3. Loga(1/8) = ? [0 @iy (R#E FHabs 95712)-3)

?ui 2 4 3

%, -3 q. -2 Taq: 9

9. mﬁwﬂ @I HAIP? [aawe @y (R IS PoE)-23)

%, foafo 9 s 4, ot et ST

57, foalb (Ftem T8 132 Smrsre

g, (@2 7 e o
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Facebook Page: Matrix BCS Series
IRFATT™ (ST
AT T: AP LIRS AFOME;  OIa: 39.00.203%

). TG CATHAG S TR [71:777% EelT (75a7 FEsse I57)-23)

%, 4%AbY SLOIAE o, TG (aal

5. ST Pr g, 54apY =% e 3
2. w0 I vt T WY T Afe Tuer 3@ B e e 8o % e

A? [ET (G (TS (AL S TP0IE) -2

IRATT ST
2050 CATF 3033 68 371 Fzamt =frw" MCQ

&, Yo GIFl 4. 8¢ GIF
. ©¢ BTl 9. 80 G Ted: o
O, (I ATNACS (A0 IS TH? [T707 GFGF (RT3 E A T57)-23)
%.C0O> 4. 0>
5. SO> 9. N> Cen: 3§

8. Tfray (ofF o IvNEIT = Jiy faeamr ey (RFE FHALA DS F07)-23)
$. LAY ATS YT ST6 H41
o, SAY Sfemel STgs g
5t. BICA 9IS 0T S1& 0T Gl
g, LAY (b 1= Tea: ¢
RGN “Seorane’ =t S Serane | oAy« G st R Iaee W, @
"TATANY (B (1 N LAY A2 B1& 0o A1 a1 |
¢. (I QI NIE CGART N [ (@17 (K3 (oS F572)-33)
%. 44l (7] 4. 5D
5, TR 9. TSR Taa: ¢
. What is the correct meaning of the following idioms, Head
and ear"? [T57 @S (TEEH (I S IP5E)-R]

A. complete B. partial

C. confused D. agree Ans. A
q. S ABTR [RTIGAT I 316 I A @- [FF707 @79 (F2FH FHAGS Fo77) -2

F. GE 4, 94

of, Seifosa q, SfeggsRl Tew: ¥
b, NGRS (@ WA T2 (71707 @77 (R (ELAHS I957)-23)]

%, FItT9 Afosia <4, ST Ao
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aA.

av.

>,

L,

wafe?
=, wiba = ¥, 4EHS
sf, ArE54 9. Tt T«
oBT: DO (WIS ST, SITH FTHA)
. ‘Tuee @ vyt wE I
. wirsardt ¥, S
1. AEHTE] ¥. ood C. 9
UOT: Gud (WIS AT, SITH ATHA)
; I+%=4mr‘+;}1ﬂﬂﬁﬂ?
« 56 ¥ 52
1. 62 9. 64 ®. ¥

aB: Lo 9G¥ 3¢ WE (WW9T Basic Math,
February 2022 Edition)

A -a-56=0% a 97 TH FE?
% 7. -8 ¥ 87
. 5. -6 9 14 4 T 9

oBl: @bq 99 Y NIEE WISV (WIFS Basic
Math, February 2022 Edition)

aafo saren farsres wfesw 13 cm ¢ €% 12
cm TV faStes ovaen o9

% 25cm % 30 cm’

. 36 cm” % 24 cm’ 3.

fBl: bbd 97 d¢ W& (WIFE Basic Math,
February 2022 Edition)

2ft wfie farers ewe aofs w97 80 T 2
et @7
Y ¥ 5 .9 W 3 S, o

ofBl: L& O9F BIC AT WIHY (|WUFT Basic
Math, February 2022 Edition)

Sy U wiea TATERY WITE (I "Tw?
&, " Y. 9

5, % . "™

*B1: O3 (NI AT, SITH HLHA)

. Logio 1000xlog:8 = ¥%7

% 800 = 8 .9 % 72 S, 9
oBl: 903 U¥ Db “NEE WA (WAFE Basic
Math, February 2022 Edition)

- (T ¥ faum s [umre o Ty

o, aA of

v

90,

S4ME Recent Job Solution

.0 = W (eebssw = ©.9
‘onfe” oo o ok e Ty

T, (T ¥, fasrdre

of. =N 9. = =
%B1: 838 (WIS AT, 33TH FLHA)
. 1424344 ....499 =397

= 5020 <. 4930

. 4830 9. 4950 C. ¥

*Bl: 908 9 @3 TWd (WIS Basic Math,
February 2022 Edition)

. qERE E Ny

& fovm qraeiram . qEEBY YOI
st. fr=r3 SaHTe 9. A SO 5. %

oBT: 9> (JAFT AE, YIS HALHAY)

. 9T 519 FANfaweee T TS0 s S
& Aqe ¥, W&
of, el q. 3l A

%BT: 30k (RIS A, SITH FHA)

. G 59U see Sy Rasy +9mw 2% wfe T
Ot =e DTy Aoy 320 v % #1TS T
& ¢8o ¥, L¢o
. ¢oo 9. 8¢o T

#BI: 0y 9% By TWCEE WOET (WWE Basic
Math, February 2022 Edition)
Write feminine form of *Priest’
. Pnestess 4. Pristress

1. Prnister 9. Pristin

. e SrETY Gifere i ey el

LR L 9. 9 . B 9.9
*B1: 938 (WIS AT, SITH ALHA)

. WD fee FuIoE Sweast wu?

&, (BI5Te ¥, fawen

S, =TT W o

fB1: 8ok (RIS ATEHT, SITH HLHA)

S T o0 1 T e e wwe?
*. 9 Y b . ¥ e«
*Bl: 8% 94 9ol “NF (WMT Basic Math,
February 2022 Edition)

GTHT JIGTHE FHTY VA o wH 7
SFTEY “NYFE FIHE VAT |
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o8, A& Yo% TEW ¢ooo DR 3 TWEA S

YATST € e e ) T8
<. @o ¥. 80
5. O¢ 9, %o . ¥

BT: ©9 T 9} WA W@ (WS Basic
Math, February 2022 Edition)
o¢. HFT (FF *M?
&, farerey o, farerge
s{, & 9, W9y s«
oY, I @I T T T @R N W
T | @HE T FE?
3, 90" ¥ 80"
if. 8¢° 9, Yo~ .2
Bl: b3 9% 8o #Wd (WS Basic Math,
February 2022 Edition)
wq. Write the correct spelling-

«. Malign ¥. Maline

s7. Meline 9. Maligne . ¥
o, I AW ST Y ATET 798 | EiEv

CRITI DY IO T S Fe ey

. 93 o= %, uo fa5E

s, u8 fom 9. vo fa5@ R |

ofBl: ¥HO 9 bd W (WIS Basic Math,
February 2022 Edition)

o», fAtea et ot wAfee Sares
&, o, ey
oI, ferarera g, “farsm B o
TBI: ¢ (WIS AT, SITH HTHI)

8o. He went home last night. Here the word
*home’ is a/an-

. noun ¥. pronoun

*f. adverb 9. adjective S, 9
8. I BTN w7

. ofqem o9 o, Marfoe =

o, 29 wral ¥, (g efaw E =

oBT: SBR (ST AT, SITH HHA)
8. “Cowards die many times before their
death” 370 Shakespeare 93 ¥+ FHrea?

@, Macbeth ¥, Julhius Caesar

7. Hamlet 9. Othello . ¥
89, HHI%W (F1H €T (17

T, WWAIE %, YA9E

. 998 ¥, Siarss v B«

oB1: 5% (WIFS AL, YITH HHA)
88, 'Y *[W(F I SALS (T MYT T[IGS T
&, alfer o wrafe

@
of. &Te R R
oB1: Ot (ST AN, S3TH HLHAT)

8¢. 93 FW oo oW AfiF ¢ WM vy TaTe A |
¢ 5= *7 Yo w #f¥F vro ooree Il D @

A 7t T
®. ) 9. Yo
f. 30 9. 3¢ T, 9

*B1: 8% UF B TWEE WiH¥ (WMT Basic
Math, February 2022 Edition)
B, TTEIY HOHE OF WG WIHAD (S (STH?

T TFEIIR 9. eSS

sf. AT 9, araae T«

oB1: O (VAT AT faewmafa, 84 siewa)
84, wiferny wwefes =faas et o027

. 3 W 435

. oo T 9. O) §mIE [ |

8». This book is ... one | was seriously
looking for. Choose the correct article.
+.a ¥, an
. no €. the C. ¥

¢o. el Y@ IETW WHEHT WIS 9 : 3 | Yo ITH
& eIie W S @ 80 | el oumm 7N

qUA TN -
% %0, %o 9. 8¢, ¢
. Ob, 32 .29, » C. 9

7B1: O30 OF B8 TWEE TS (WMT Basic
Math, February 2022 Edition)

¢>. WEE ¢ T 9w volt | oW e b oW
HAT 200 | FHH T W07
. Lo ¥. ¢o
5. Bo 9. 90 C. ¥
*Bl: Lo8 «¥ 39) “Wd (WIY® Basic Math,
February 2022 Edition)

@3, WP WIEE Ny FIAE O B2
&, FraTEe ¥, TS
S, T5aR 9, U T
oBT: 3¢ (WIFT I, SITW HHAT)

3595 & TNFTT 59 51T RIS
I TS FATAR ST -
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°1.

ob.

o,

RO,

W.

W,

9,

28,

®, 3 ¥ oW
. 9N W, of

AR FFTe (7
T, Bufn o,
¥, SwTs T @

@ Teforw earre?

@ forwa ¥, T

of. Wyt ¥, TE B s
*B1: 99 (WIS IS, JITH HTHA)

WA AR 8 e IvnEe wyiye a«fe oW
&
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“Oliver Twist™ was written by-
#. W. Shakespeare ¥. P.B. Shelly

5. Charles Dickens ¥. Lord Byron T,

JoR TE YN W | BfEe W oW TR
@ =

T, GAWITT WD o, SATATET ST

s, ST Wbt g, ST LB 3=

R FTeTE TE G A A - G AT WE
FAF OF CHIZET |

*B1: @] (VAT T, ST NeHa)

Which of the following words is in singular
form?

. formulae 4. agenda

. media 9. radius

Change the voice ‘Honey tastes sweel.’
#. Honey 1s tasted sweet

%. Honey 15 sweel 1 tasted

1. Honey 1s sweet when it s tasted

9. Honey 1s sweet tasted

@ o%?

T, e o, ST

S{. ST 9, SraNe

*B1: OB (WIT A, YATH HUHA)
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WIHE Recent Job Solution
vo fibr € afS G sferas worw sy fa.fi, |
@i o et 4 wfewy sare Gada
& AU 7T
*. 8.¢ LSS ¥ Y OTE
. 9.¢ OES 9. » OFS @
oBl: BGY O¥ Y TINIEE WIHY (WMT Basic
Math, February 2022 Edition)

Antonym of “dislike™-
%. Fascination ¥. Fatal

. Provoke 9. Revoke C. &

39, AT FEAD AR AT 7

W,

W,

0.

¥, Ty
of. O v, gfare= @
*BT: @S (WS Ay fawurafer, 84 sivwad)
“aw Y™ o wrgdtaan

. Wyl WY AW o, ©, S
o, WIEHW A1 ¥, WeAW 9
*BT: 9¢ (RIS AT, SITH THA)
He has assured me..... safety. Which one is
correct preposition?

*. with % of
. for 9. al

S. 9

©. ¢

. WS Ae W

T\ 93¢ = 8y Bo 5 S

%, \ ferfatre = 0.4 TEw
st. 3 fabrg = 99 9y e

9. )3w=23e8 GifT B. ol
*Bl: ¢ 9F 89 WA (WEWT Basic Math,
February 2022 Edition)

G2 T TET G w4 fArew Wi S
N

=, pifvfeams o, WSy

sf, ATNEEe g, asfrwg .9

oB: b¢q 9% 90 TWa (WHMT Basic Math,
February 2022 Edition)

o, ey AR WW IR WTw ey

GUATETE=?
&, e o, SEETE
st s g, *r¥fsreran €. w

*B1: @© (Wnge e fawwrafa, 8¢ srewa)

29, Choose the appropriate preposition. Do not

boast.... vour wealth.
<. for 9. of

. al 9. 1n T v

G aTeEN e TEE WS TS
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M Recent Job Solution
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‘Tﬁnﬂ: 90

(o0 e 317 F | el Bor Saraw & o.¢ 7T FT YL

Had | known her. I ... her.
¥, would meet ¥. would had met

. would met 9. would have met ©. ¥
“ corurte wisamw femrew” FrapTEe R @7

@, afoe wem o, WH WA

of, ceoe eifers ¥, "L Tl T. v
oB1: 29b (WIVT AT, SITH HLHAT)
Synonvm of “Scare™-

%, Saure ¥. Homble

s{, Malicious 9. Callous S. ¥

The future perfect form of- *1 do the work™-
%. | wvill do the work

¥. | will be doing the work

I. I wall have done the work

9. I wall have doing the work B
We must not be late, else we will the miss
the train. This is a-

%. compound sentence

%. complex sentence

Gl

f. simple sentence

9. interrogative sentence . ¥
@D JEEN?
2
. 09 ‘o
2 2
- - .
" o %2 S. ¥

"fﬂﬂ: 029 & Y W (WMT Basic Math,
February 2022 Edition)

SIS SV W 1e< | STeiF o,¢ TH Ol ¥87
%. 0,0¢ 4. 0.2Q

. 0.03¢ ¥, 0.003¢ S
“Pl: 08 O¥ W8 Wg (WMT Basic Math.
February 2022 Edition)

SR Gitfere Semre auf?
*, 5 o, fo=i
o, 41510 ¥, wfo 5. %

oBl: B (WIS AT, SITH ALHAT)
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o, cafera g, T

*B1: d3b (W® Sgates fagurafs, 84 sivwa)
“Hold water™ means-

&, keep water %. bear examination

f. dnnk water 9. store water .9

What is the correct translation of “&i f& &%
"

%. Does he not eat nice”

¥. Doesn’t he eat rnice”

. Isn’t he eating nce?

9. Hasn't he eaten rice? ®. ¥
The noun form of the word “inform™-

%, Information 4. Informative

. Informous ¥. Informatively .=

“& IR T e o aefore ‘a1 @ wnd

q99¢ THR?
& fogy g™ o ATY o
s SYEH =™ 9. W 2™ P

*B1: @0 (RIFT AT, YITH HHAA)

The meaning of the idiom *A bolt from the
blue’-

#. detame %. fabulous

5. fanatic 9. unexpected C. ¥
A remedy for all diseases is called-

#. Drug ®. Anliseptic

1. Panacea 9. Cure S, 9

[AFG7 & TJIFHE F7 BIaT 3wy Iy
RIS WS FIAT T -
"WyFE IR AT
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LS.

q0.

@ v 47

T8 <, o

6. ¥ 9.9 TEd: ¥
[eret reET ST @ FAIEST (MR, 033) D FYBI-d3, &AH-db)

T A (@I Go AT TS IER?

3. (@ifEs A 8 TG AL . @IfES AL 8 WRE AL

o, TG AIE G Wi ABE 9. SIS L 8 WEE AGE TEaT

[e%f MP3 SI@Efea® (ATS¥E, 033) = FBI-uR, &F-b]

*fed #ow I == = @ o

. IG5 <. TOLHA

s, arferar 9. e TE: T

[ MP3 SISee@ (A0999, 03) = Bl-930]




es.

Yo,

Lo.

vq,

9a° + 16b* 97 ANY F© @M FACH @ANEEA gD Tl a2

. 12ab 4. 16ab

7. 20ab 9. 24ab TEd: ¥

[&r%f Math Review (SF113, 2033) = 91- 8Ub, &%- 53]

‘wee fafer 3fd 31E” A et @1 I @ eSS

T, IS 9 [efE <, WA FECE T

of. FEIACE 0 ¥, FePAre 89 e @
[ore q1eET orE @ RSy (TR, 03%) =D YB-949, LH-dY]

aF I I T - “Wiwq TACH’

¢, NG 4, A=

of, ST 9, frarrs TEq: &
[eret qreE e € Afzey (12, 03) D PPI-¢89, -3¢

ST ACARA ADS AT FIPACEIT A1 2

3. (e IIFq <, ©fFr @ IIEa

sf, 9<f “ifapa 9, g 1E1 GIeae TEq: §
[t Q1T ST @ AMfRST (TR, 03) D FBI-308, &%-20]

Prel-{tee I[WETE T8 8o 1T | Yo I ATF ©IWE I WIAS © : S XA

LT ISA T IS?
F. b 984 4. ¢ 924
5. 3 929 ¥, q9%9 Tad: 4

[&s Math Review (112, 2033) = 9BI- 200, 2%- 39 (FFF)]
935 9 v% wfere ey o9t 2= | 9ol W@t vo Bt @i oy ey
A b % S Lol | ¥eHd Fay 7
F. 800 B! <, 80 DI
st. ¢oo BIFI 9. Yoo BIF Teq: 5
[&%f Math Review (F7712, 2033) = 99l- 339, &%- Yo (Tg&)]
¢f6 =1EE o oft 5197 Jrena I | /0 TIEE HAfFare b s ot
q?

%. 86 4. ¢fo
of. ufb q. Yofb Taa: @
[t Math Review (F7112, 2033) = %B1- L), &%- ol (Faa)]

Put the correct article. He is ...... University student.

<¥. an d.a

*I. the 9. that oEq: 9
|George's English Language (July, 2022) = Page -73, Q.-16]

(0 IZIBFGRHP =¥ 7H

<. ¥ q. WRE

T. 9, \lY TEd: of

[eret areeT SrET @ FAlfgey (T3, 2033) =D YBl-9vo, &%-80]




8br.

8o.

¢o.

@>.

ex.

@8.

ee.
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ST ATATCea w1 2

&, TIRD 4. (@ITEHe

of, faggem q, LTI TEd:
[@s MP3 SISEfe® (A15%3, 2033) = 4B1-939, &%-3)]

The Writer of "Daffodil’ poem-

¥. Shakespeare 4. P.B Shelly

. Wordsworth 9. John Keats TaEd: o

(George's English Literature (August, 2022) => Page -76]
"BIgd *taa e (@wi?

E R RO <. 5oaIE

. 5od q, (6o TaEq: o
[w7et qrean o 8 TSy (R, 03%) =D PBI-206, &H-8Y)]

8¢° O T EF (I T F&?

. yoe° 4. 38¢°

. oe° q. 8¢° Ted: @

[&&f Math Review (SF11%, 2033) = JI- ¢ed, &%- >3 (FFa))
Passion 43 59¥% (synonym) *%-

<. Despise <. Love

st. Zeal 9. Fanatic ©eq: o
R0 UF b.¢% F©?

<$. 99 4. 8Lu.br

T. @L.8 g, 8% Ted: 4

[erf Math Review (S8, 2033) = 991- SoR, &%- 0]
The meaning of ‘Crying need’ is-

<. useful <. very favourite

1. urgent need 9. valuable TaEd: o

Write feminine form of "Host’ -

<. Hosten 4. Hosts

s7. Hostess 9. Hostes Taq: of

‘W g7 e % @i

3. oI9e 4, faurs

o, fow q. fqg= TEd: &
[wref qreat st 8 FA1fESy (SR, 203%) D PPI-8b, &A%-2W

Fill in the blank. ..... Do not get ..... the running train.

€. 10 <. at

. Into 9. on Taq: o

a’-a-56=0%"a=?

F.8,-7 4. 8,7

‘*T.-8,7 9. -8, -7 CEd: &

[er%f Math Review (37112, 2033) = 99l- 890, &%- o¢ (FFH)]
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‘Tt @ g Fawe =02
&, e <. Fand
of, JRand v, faodrend e o
[eref qreeT e @ RSy (13, 03) D YPl-veq, 2A%-85)]
«ACHF PG qG?
3. s/ ¥, 3/5¢
T. d.R€ 9 0.%¢ oad: 9
[@sf Math Review (T2, 2033) = 949l- ¢o, &5-3> ("))
SIS AT FALH € (Sl (0 ?
3. OISl <, oY
s, argrIo q, Y&l Taq: of
(&% MP3 107 (FTS9E, 203) = PPI-3-dbr, &%-y)]
G236 AT fasrem TP Ay IREEFT 0 TAHF do FLLfl 8 W
1.1, 2o O e crarwe fafe «el Tfree Affie vor
3. Yo (#.f. <. wo .M.

of. 8o (1.f, . ¢ AL TEq: o
[&%f Math Review (SF13, 2033) = 791- LY, &%- 09 (FFFH)]

‘ARSI I 51?2

. TIW FEreW <. =1 IZAW 1o

5. Wqye e g, e $eq: ¥

[orer e ST 8 RSy (FF1R, 03) D FBI-, AF-d¢]

Transform into future perfect tense - 'l am going to school’

<. I will go to school.

<. will be going to shool.

. I will have going to school.

9. | will have gone to school Taq: of
|George's English Language (July, 2022) = Page -315]

@I A0 a2

¢, A% 4. ATIESE

o, *[2HEE 9. *eF Tad: 4

(ot areE ST @ AfTEy (TR, 2033) D FPl-23¢, AH-vel
i’ =twa it freem T@=-
3. (1 + 2@ 4, 94l + 39
5f, WAl + 329 g a4+ @@ oEd: &
[wret 3R STaT 8 RSy (TR, 033) =D PBI-2D4, &%-88]
@0 AP =7 qHq?
&, AT . QAT
s, el Y, 454 TaEd: ¥

[eret areen ©raT @ FAifEey (FTE, 203) =D YBI-888, 2H-¢Y]




2.

OR.

9.

8.

1.

b

Change into indirect form - He said, "I am writing a letter".
<. He said that he was writing a letter.

4. He said that he 1s writing a letter.

I. He said that he has written a letter.

9. He said that he has been writing a letter. TEd: @
'Go there at once'isan  sentence

<. Imperative <. Optative

. Exclamatory 9. Interrogative TE: T

[George's English Language (July, 2022) => Page -482, Q.-12]
13-231,x1-4€xy-2yM*T.HT.*I.W!‘
T (x+2) qAix-2)
. (X + 4) 9.x(x-2) Taq: ¥
[er& Math Review (SF112, 2033) = B1-8¢Y, 2%-3))]
‘eMITAIS’ (I AL
. &g ¥, SRAFE
ST, ALY g, gfezd E@fi T&Eq: ¥
[e7et 1T ST 8 AMTST (TR, W) =D JP1-988, AM-35Y]
Change the voice - He teaches us English.
<. We are taught English by him.
4. English 1s taught by him.
7. We taught English by him.
9. We teach English to him. TEa: &
|George's English Language (July, 2022) => Page -530)]
Translate into English - G6 TG (20T 5107 |
<. The train leaves 1n right time.
4. The train has left at right time.
5. The train 1s leaving in just time.

9. The train has right time left. Ted: 4
(P ST Go=?

3, BIl <, AISTITE!

5, TSl g, Y&l TEd: o

[ws MP3 110w (ATS4, 033) = FPl-20¢, 24%-38]
BATITH FAHLH @AM 2% I641 ILAF (F?
&, 31 <, =g
. SIEAl 9, S T&q: of
[eret qret ot @ RSy (13, 03) =D YPi-¢, 2q5-¢
G0 I Vo & (FN1F 0 W T I | I1E FF Yo W 217 Yo &5 @11
BT (ST I AP I S WL (19 ZLA?
&, 20 W o, M e
of. S¢ fate ¥, 38 fas T&a: of

[ Math Review (F713, 2033) = 9Bl- by, &%- b (TGH)]
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1.
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W.

15 AT *% @02
F. FEpdl ¥, B9
o, %W q, (ble ©&Ed: ¥
[eret a1 STt @ RSy (S, 03) D FPI-Aus, AF-04]
930 08T [ 0 G101 7= TR owaw 302
. 314 T ELfw 4. 326 35 @
st. 400 3 .fa 9. 324 3 il e @
(&%t Math Review (F711%, 2033) = %Bl- ved, &%- 09 (VH))
HA150 LTI T 8Y | FRANGTEATT ST B 7RI G 8¢ | AT RYGiD F7
F. 8b 4. 8%
. ¢o 9 (@02 77 ©&d: 9
[ersf Math Review (T2, 2033) = 931- 943, &%- b (V&)
0.y X0,09X80=7
F. 0.3 9. 0.03
. 3.0 ¥, 0.30 Tad: 4
[&r& Math Review (912, 2033) = 991- Yo, &%-98 (Fga)]
'Crocodile tears' means -

<%. Real love <. Emotion

5. Pretend to cry 9. Foolish Taq: of
|George's English Language (July, 2022) = Page -32, Q.-264]

Shallow «3 f@3® 9¥aw= (antonym) *%-

<. Deep <. Small

. Long 9. Heavy TEd: &

AT AGOT W (FHID?

. Qe %, I

5, FCATSTH Y, g9 OEd: ¥

[erst MP3 Jieaiim= (F0S%4, 03) = 4Bl-93¢, A5-¢R
Walking is good for health. Here walking is-
<. Adjective 4. Adverb
. Gerund 9. Participle ©&Ed: of
|George's English Language (July, 2022) = Page -113, Q.-30]
a+b=3qRab=2TTa’+b’="?
.0 q. 27
. 18 q, 12 TEd: ¢
[&rsf Math Review (T2, 2033) = 791-883, &%-09)
Write the correct spelling
<. fassinate 4. fnscinate
1. faccinate 9. fesinate Tad: 9

[(George's English Language (July, 2022) = Page -761, Q.-219]
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oR.

°8.

°C.

oV,

°q.

obr.

09,

. wfgre= <, AIEGEIE

s, fage« 9, 4 T3 THZG T&Ed: ¥
[eref MP3 tvaf+e fa@e (T3, 2033) = 7Pl-ve, &4%-2¢]

Sy =fer areeT oy " @1 A

3.5 4. Y308

. ORI 9, 300 Tad: ¢

&% MP3 <07 (ATS9E, 2033) = 4B1-33, &%-5))]

ST fagred eg SgAre @Wh?

F.HL:8:9 I Hv:¢:9

T.9:br:© q9.39:3:¢ TaEd: ¥

[@=f Math Review (T2, 2033) = *¥i- ¢, 2%- ov]
Fill in the blank, He is ignorant ___ this law.

<. to 4. about

. of 9. with Taq: of
AT FE R CAIET A2

F. © TFEAIMT dSdbY 4. ¢ (TFAME DLy

. > CEFUNT ddbY €. 3¢ T ddLY T ¢

[&rst MP3 It (ATS%4, 03) = 7Bl-Yo, &¥-3]
yofb 99g  FIFE Yol +a [TE 4T | ¢ofd I=TT ¢oft Fa1 (ATe F© 797

GRS

. ) == 3. ¢ =¥ 0

5. So =D ¥, ¢o fufen T &
[&r/% Math Review (S711%, 2033) = 9l- 29), 2%- 33 (&™)

FA I TS IICF TS 7T 2

¢, VYAl 4. G2

o, g 9, 7@ a5 of

= ST 27 ¥9° 4F49?

F. 12 4, bId

of, fom v, A5 TE3: o

[w7et reE oA € TSy (SRR, 0I) D PPI-89, -]
qF PAY I IFA- ‘Qfea ©iF’
&, Sfem 4. 3fze
. &F1 9. (91 oad: 4
7%t areETt ot @ RSy (TR, 033) =D PI-¢83, «A%-9)
The plural form of ox-

®. 0Xes 4. OXIS
. oxen 9. 0XEeSS TaEd: 9

|George's English Language (July, 2022) => Page -21, Q.-23]




of AART-30%%

AATEIE SIfEY: 3¢-33-2033

). AETT5T TSI T o ST IFT?
=, Y03 afer ynad ¥, 38% afepr 359
of. 398 «afert 3»ad q, S aferer 35 Tag: o
[ersf MP3 21esael (F08%4, 2033) = F8-9), Z5-3v]
2 3xT 4+ x - 10 a7 S Ry
. (x+2)(3x-5) ¥ (3x +2)(x - 35)
T. (x - 2)(3x + 3) 9 (3x - 2)(x + 5) TEG: E
(=7 Math Review (912, 2033) = ¥Bl- 8¢o, ¥%- o9
©, Y @EH AIGUTS (EETE A0S 4F @
T, 4 AN o, =14 2%
of, st q, Afaere TaEa: o
|7 21 sra1 @ Hifger (T2, 2033) = “Bl-dob, #H-84]
8.  Write the noun form of 'Choose'-
<. Chosen 4. Choice
1. Choosing 9. Chosened eEd: ¥
|George's English Language (July, 2022) = Page -7901
¢. Translate into English. 9% s/&faib wmaw §9% auumes |
%. | need this job badly. . I need this job urgently.
7. | am in need this work job urgently.

9. | am in need of this job. TEa: @
G wrE R v W€ i

=, g 1% o, sl T e

of, Bg e Y, WHEq 98 TaEa: ¥

(@t =g rar @ Ffger (T8, 3033) D FE-¢3Y, 93]
. Y 3 = 9% O MDE?
+. 280 9, 2.9
7. 2.28 Y, o, 09 a9

[er%f Math Review (&#12, 2033) = “¥i- 8ob, 2%- o]

b.  TUEA @ AT TA0Er 233, 593, 38, dde,.........
F. 09 ¥. BY
. OO ¥, bo TEE: ¥

[ersf Math Review (S92, 2033) = 9Bl- 800, &%-03 (WF5)]
. Fill in the blank. Call  a doctor immediately.
. at <. with
. In 4. for TEa: o
|George's English Language (July, 2022) = Page -152, Q.-73/74]



